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ul0ft ljifo 

कक्षा M ३-८ 

l;sfO Iflt tyf cfk"/0fsf nflu lgbfgfTds k/LIf0f dfu{bz{g 

!= ;Gbe{ 

ul0ftLo 1fg, l;kn] dflg;sf b}lgs hLjgsf lj|mofsnfk ;~rfngdf k|ToIf ¿kdf ;xof]u 

u5{ . ljBfno txdf ul0ft ljifosf] kf7\oj|mdsf] d'Vo p2]Zo ul0ftLo 1fg, l;k, clej[lQ tyf 

;Ifdtf ljsf; u/L b}lgs hLjgsf Jofjxfl/s ;d:of ;dfwfg ug{ ;Ifd agfpg' xf] -kfljs], 

@)&*_ . ;fdfGotM ul0ft ljifosf] ljBfno txsf kf7\oj|mddf ljBfyL{ Ifdtf, pd]/ tyf 

:t/cg's"n x'g] u/L b}lgs hLjgsf Jofjxfl/s ;d:of ;dfwfg ug]{ Pjd\ dflyNnf] txsf] 

l;sfOsf] tof/Lsf nflu cfjZos kg]{ ljifoj:t' ;dfj]z ul/Psf] kfOG5 .   

sf]le8 !( nufot cGo ljkt\sf sf/0fn] ljBfyL{sf] l;sfOdf Iflt ePsf] ljleGg cWoog 

cg';Gwfgn] -ERO, 2022; World bank, 2018_ b]vfO/x]sf] cj:yfdf ul0ft ljifodf klg ljBfyL{sf] 

l;sfO Iflt ePsf] b]lvG5 . l;sfOdf ePsf] Iflt / l9nfOnfO{ kl/k"/0f u/L ;DalGwt sIffdf 

;xh tj/af6 l;sfO xf];\ eg]/ l;sfOdf ePsf] sdhf]/L jf gl;s]sf s'/f kQf nufpg jf 

ljBfyL{sf] l;sfO Ifltsf] cj:yf klxrfg ug{ z}lIfs u'0f:t/ k/LIf0f s]Gb|n] lgbfgfTds 

k/LIf0fsf nflu k/LIf0f dfu{bz{g ljsf; u/]sf] 5 . o; k/LIf0f dfu{bz{gdf  lgbfgfTds 

k/LIf0fsf k|Zg (Diagnostic Test tools) gd'gfsf ¿kdf;d]t /flvPsf] 5 .  

of] dfu{bz{g ljsf; ubf{ ljBfyL{nfO{ s'g} sIffdf l;Sg'kg]{ ul0ftLo ljifoj:t' / ;IfdtfdWo] 

dflyNnf] sIffdf ;xh ¿kdf l;sfOnfO{ lg/Gt/tf lbg clt cfjZos ljifoj:t'nfO{ ;d]6\g] 

u/L sIff @ b]lv sIff & ;Ddsf nflu Go"gtd l;sfO pknlAw:t/ lgwf{/0f ul/Psf] 5 . oL 

l;sfO pknlAw:t/df cfwfl/t eO{ Go"gtd l;sfO ;Ifdtfsf ljifoj:t' /  Go"gtd l;sfO 

k/LIf0f 9fFrf ljsf; ul/Psf] 5 . lgbfgfTds k/LIf0f 9fFrfcg';f/ sIff # b]lv sIff * ;Ddsf 

nflu ;dfgfGt/ k/LIf0f ;fwg ljsf; ug{sf nflu lzIfsnfO{ dfu{lgb]{zg;lxt ;fwg klg 

ljsf; ePsf 5g\ .  

gofF z}lIfs ;qdf dflyNnf] sIffdf k'u]sf ljBfyL{df Go"gtd l;sfO xfl;n ePsf] ;'lglZrt 

x'g'k5{ . ;f]xL cfwf/df kf7\oj|mdn] tf]s]sf sIffut l;sfO pknlAwsf cfwf/df dflyNnf] sIff 

k9\gsf nflu k"j{1fgsf ¿kdf cfjZos ul0ftLo 1fg / l;knfO{ ;d]6\g] u/L Go"gtd l;sfO 

;Ifdtf lgwf{/0f ul/Psf] xf] . o;n] kf7\oj|mdn] /fv]sf] l;sfO ;Ifdtfsf] k"0f{ ¿kdf dfkg ug{ 

g;Sg] eP tfklg Go"gtd l;sfO dfkgsf cfwf/df sIff lzIf0fsf] lg/Gt/tfdf eg] cjZo 

;xof]u k'Ug] ck]Iff /flvPsf] 5 . 
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@= Go"gtd l;sfO pknlAw :t/ klxrfg 

ul0ft ljifosf] kf7\oj|md -sIff @ b]lv sIff * ;Dd_ n] tf]s]sf sIffut l;sfO pknlAwsf cfwf/df dflyNnf] sIff k9\gsf nflu k"j{1fgsf ¿kdf 

cfjZos ul0ftLo 1fg / l;knfO{ ;d]6\g] u/L Go"gtd l;sfO ;Ifdtf lgwf{/0f ul/Psf] 5 .  lj1 ;d"xaf6 df}h'bf kf7\oj|mdsf l;sfO pknlAwnfO{ 

k|fyldstfsf cfwf/df k|fyldsLs/0f, ;ª\If]kLs/0f, 5gf]6 / clen]vLs0f u/L rf/ r/0fdf sIff # b]lv * ;Ddsf] l;sfOsf] lgbfgsf nflu 

lgDgcg';f/sf Go"gtd l;sfO pknlAwsf :t/ 5gf]6 ul/Psf] 5 . 

tflnsf != sIff @ b]lv * ;Ddsf ul0ft ljifosf Go"gtd l;sfO pknlAw :t/ 

If]q Go"gtd l;sfO pknlAw 

sIff @ sIff # sIff $ sIff % sIff ^ sIff & sIff * 

Hofldlt  

-/]vf / sf]0fx¿_ 

  ?n/sf] k|of]u u/L 

/]vfv08x¿sf] gfk 

lng / lvRg 

 ?n/sf] k|of]u u/L 

sf]0fx¿ lvRg, gfd 

n]Vg / t'ngf ug{  

 rfFbsf] k|of]u u/L 

) b]lv !*) 

;Ddsf sf]0fx¿ 

gfKg - !) n] lgz]if 

efu hfg]_ 

 rfFbsf] k|of]u 

u/L ) b]lv 

!*) ;Ddsf 

sf]0fx¿  gfKg 

/ lvRg  

 sf]0fsf] k|sf/ -

;dsf]0f, 

Go"gsf]0f / 

clwssf]0f_ 

5'6\ofpg  

 

 k|ltR5]lbt, 

;dfgfGt/ / nDa 

/]vfx¿sf] 

klxrfg ug{  

 sf]0fsf] cw{s / 

/]vfv08sf] 

nDafw{ssf] /rgf 

ug{ 

 sf]0fx¿ (30, 

45, 60,   90 

/ 120) sf] 

/rgf ug{  

 hf]8f sf]0fx¿sf] 

klxrfg ug{  

 hf]8f 

sf]0fx¿;DaGwL 

HofldtLo tYox¿ 

k/LIf0f ug{ 

 b'O{cf]6f ;dfgfGt/ 

/]vfx¿nfO{ Pp6f 

5]bsn] sf6\bf aGg] 

sf]0fx¿sf] ;DaGwsf] 

k/LIf0f ug{ 

Hofldlt  

-;dtnLo 

cfs[ltx¿_ 

 e'hf / s'gfsf 

cfwf/df lqe'h / 

rt'e'{hsf] 

cjwf/0ff ljsf; 

ug{ 

 l;wf lsgf/f ePsf] 

j:t' / l;;fsnd 

k|of]u u/L lqe'h / 

rt'e'{h  lvRg / 

gfd n]Vg 

 lqe'h / rt'e'{hsf 

zLif{laGb', e'hf / 

sf]0fx¿ klxrfg ug{  

  e'hf / sf]0fsf 

cfwf/df 

lqe'hx¿sf] 

juL{s/0f ug{   

 j[Qsf efux¿sf] 

klxrfg ug{  

 

 lbOPsf rt'e'{h -

;dfgfGt/ rt'e{'h, 

cfot / ju{_ sf 

u'0fx¿sf] vf]hL / 

k/LIf0f ug{  

 

 lqe'hsf u'0fx¿sf] 

vf]hL u/L k|of]uaf6 

k/LIf0f ug{  

 rt'e'{h -;dafx' 

rt'e'{h, ;dnDa 

rt'e'{h / rª\uf_ 

sf u'0fx¿sf] vf]hL 

/ k/LIf0f ug{  

 lbOPsf] cj:yfdf 

cfot, ju{ /  
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If]q Go"gtd l;sfO pknlAw 

sIff @ sIff # sIff $ sIff % sIff ^ sIff & sIff * 

;dfgfGt/ 

rt'e{'hsf] /rgf ug{ 

Hofldlt -

;d¿ktf tyf 

cg'¿ktf_ 

      cg'¿k cfs[ltx¿ 

lrGg / vf]hL ug{  

 lqe'hx¿ cg'¿k 

x'g] cj:yfx¿sf] 

k/LIf0f ug{ 

 cg'¿k 

lqe'h;DaGwL 

;d:ofx¿ ;dfwfg 

ug{ 

Hofldlt 

-7f]; j:t'x¿_ 

   3g / if8\d'vfsf 

zLif{laGb', lsgf/f / 

;tx 5'6\ofpg 

 3g tyf 

if8\d'vfsf] 

zLif{laGb', 

lsgf/f / 

;txsf] u0fgf 

ug{ 

 if8\d'vf / 3gsf 

;tx, lsgf/f / 

s'gfsf] ;DaGw 

:yflkt ug{  

 

 6]6«fx]8«g, 3g, 

cS6fx]8«g, 

8f]8]sfx]8«g / 

cfOsf];fx]8«gsf] 

lsgf/f, ;tx / 

s'gfsf] ;DaGw 

:yflkt ug{  

 3g, if8\d'vf, 

6]6«fx]8«g, ;f]nL / 

a]ngfsf hfnLx¿ 

lgdf{0f ug{  

 

Hofldlt -

lgb]{zfª\sx¿_ 

     cIf, rt'yf{+z / 

lgb]{zfª\ssf] 

wf/0ff ljsf; u/L 

rt'yf{+zdf 

laGb'x¿nfO{ 

cª\sg 

(Plotting) ug{  

 n]vflrqdf 

lbOPsf] laGb'sf] 

lgb]{zfª\s kQf 

nufpg tyf 

laGb'x¿nfO{ 

cª\sg ug{  

 b'O{ laGb'larsf] 

b'/L lgsfNg 

Hofldlt -

;dldlt / 

6];]n];g_ 

     ;dldtLo lrqx¿ 

lrGg 

 cfot / ju{af6 

6];]n];g 9fFrf 

tof/ kfg{ 

 lqe'hsf] k|of]uaf6 

6];]n];g tof/ 

kfg{ 

lgoldt / 

cw{lgoldt 6];]n];g 

vf]hL ug{ / tof/ 

kfg{ 

Hofldlt -

:yfgfGt/0f_ 

       :yfgfGt/0fsf] 

kl/ro lbg 

 lbOPsf] laGb'sf] 

k/fjt{g, lj:yfkg 

/ kl/j|md0f ug{  
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If]q Go"gtd l;sfO pknlAw 

sIff @ sIff # sIff $ sIff % sIff ^ sIff & sIff * 

Hofldlt -lbzf 

l:ylt / :s]n 

8«Oª_ 

      lbzf l:ylt / :s]n 

8«Oªsf] kl/ro lbg 

 

 

gS;fdf lbzfl:ylt 

/ :s]n 8«Oªsf] 

k|of]u 

cª\sul0ft -

;ª\Vofsf] 1fg_  

 tLg cª\s;Ddsf 

;ª\Vofx¿nfO{ 

:yfgdfg 

tflnsfdf k|:t't 

ug{, :yfgdfg 

eGg, k9\g / n]Vg  

 !)) ;Ddsf 

;ª\Vofx¿nfO{ 

b]jgfu/L / lxGb' 

c/]las 

;ª\Vofª\sg 

k4ltdf -cIf/df_ 

n]Vg 

  

 tLg cª\s;Ddsf 

;ª\Vofx¿nfO{ 

t'ngf u/L a9\bf] 

jf 36\bf] j|mddf 

k9\g / n]Vg  -

tLgcf]6f;Dd dfq_ 

 

 hf]/ / lahf]/ 

;ª\Vof klxrfg ug{  

 

 kfFr cª\s;Ddsf 

;ª\VofnfO{ b]jgfu/L 

/ lxGb' c/]las 

;ª\Vofª\sdf 

:yfgdfg tflnsfdf 

k|:t't ug{, :yfgdfg 

eGg, k9\g / n]Vg  

 !))) ;Ddsf 

;ª\VofnfO{ b]jgfu/L 

/ lxGb' c/]las 

;ª\Vofª\sg 

k4ltcg';f/ cIf/df 

k9\g / n]Vg 

 

 rf/ cª\s;Ddsf 

;ª\Vofx¿nfO{ a9\bf] 

jf 36\bf] j|mddf 

k9\g / n]Vg  

 rf/ cª\s;Ddsf 

;ª\Vofx¿nfO{ 

;ª\s]tx¿ =, >, < 
k|of]u u/L t'ngf 

ug{ 

 b]jgfu/L / lxGb' 
c/]las cª\s k|of]u 

u/L /fli6«o 

k4ltcg';f/ ;ft 

cª\s;Ddsf 

;ª\VofnfO{ :yfgdfg 

tflnsfdf k|:t't 

ug{, k9\g / n]Vg 

 rf/ cª\s;Ddn] 

ag]sf ;ª\VofnfO{ 

glhssf] bz / 

;odf z"GofGt ug{ 

 kfFr cª\s;Ddn] 

ag]sf ;ª\VofnfO{ 
glhssf] ;o / 

xhf/df z"GofGt 

ug{  

 1 b]lv 100 
;Ddsf ¿9 ( 

Prime) / ;+o'St 

(Composite) 

;ª\Vof 5'6\ofpg 

 

   

cª\sul0ft -k"0f{ 

;ª\Vof_ 

     u'0fgv08 / 

ckjTo{x¿ kQf 

nufpg 

 b'O{ ;ª\Vofx¿sf] 

dxQd ;dfkjt{s 

/ n3'Qd 

3g;ª\Vof / 3gd"n 

kQf nufpg 

låcfwf/ ;ª\Vof 

k4lt / k~rcfwf/ 

;ª\Vof k4ltaf6 

bzdnj ;ª\Vof 

k4ltdf ¿kfGt/0f 

ug{ 
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If]q Go"gtd l;sfO pknlAw 

sIff @ sIff # sIff $ sIff % sIff ^ sIff & sIff * 

;dfkjTo{ kQf 

nufpg  

 !)) ;Ddsf 

;ª\Vofsf] ju{ 

;ª\Vof / tL 

;ª\Vofsf] ju{d"n 

kQf nufpg 

rf/ cfwf/e"t 

lj|mof / sf]i7sx¿ 

;dfj]z ePsf] 

;/nLs/0f ug{  

cª\sul0ft -

k"0ff{ª\s_ 

     k"0ff{ª\ssf] kl/ro 

lbg 

 

 rf/ cfwf/e"t lj|mof 

k|of]u u/L k"0ff{ª\ssf] 

;/nLs/0f ug{ 

 

cª\sul0ft  -

cfg'kflts / 

cgfg'kflts  

;ª\Vofx¿_ 

      cfg'kflts 

;ª\Vofx¿sf] 

klxrfg ug{  

 

 cgfg'kflts 

;ª\Vofx¿sf] 

klxrfg ug{  

 cfg'kflts / 

cgfg'kflts 

;ª\Vofx¿ 5'6\ofpg  

cª\sul0ft -

ul0ftsf 

cfwf/e"t lj|mof_ 

 

 of]ukmn !,))) 

;Dd cfpg] tLg 

cª\s;Ddsf 

;ª\Vofx¿sf] hf]8 

ug{  

 tLg cª\s;Ddsf] 

;ª\Vofsf] 36fp 

ug{  

 !) ;Ddsf] 

u'0fgtflnsf 

lgdf{0f ug{ / u'0fg 

 of]ukmn !),))) 

;Dd cfpg] rf/ 

cª\s;Ddsf 

;ª\Vofx¿sf] hf]8 

ug{   

 hf]8 / 36fplarsf] 

;DaGw klxrfg ug{  

 rf/ cª\sn] ag]sf 

;ª\Vofx¿sf] 36fp 

ug{ 

 hf]8 / 36fplj|mof 

k|of]u ePsf 

;d:ofx¿ xn ug{ 

hf]8, 36fp, u'0fg 

/ efu lj|mofdWo] 

s'g} tLg lj|mof 

;dfj]z ePsf 

;d:ofx¿ ;dfwfg 

ug{ 
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If]q Go"gtd l;sfO pknlAw 

sIff @ sIff # sIff $ sIff % sIff ^ sIff & sIff * 

tflnsfdf cfwfl/t 

/x]/ b'O{ 

cª\s;Ddsf] 

;ª\VofnfO{ !) 

;Ddsf] ;ª\Vofn] 

lgz]if efu hfg] 

efu ug{  

 tLg cª\s;Ddsf] 

;ª\VofnfO{ b'O{ 

cª\s;Ddsf] 

;ª\Vofn] u'0fg ug{ 

 tLg cª\s;Ddsf] 

;ª\VofnfO{ !) 

;Ddsf] ;ª\Vofn] 

efu ug{  

cª\sul0ft  

-leGg_  

 l;ª\uf],  cfwf / 

Ps rf}yfOsf] 

cjwf/0ffsf 

cfwf/df j:t'x¿sf] 

t'ngf ug{ 

 ;fdu|L k|of]u u/L 

leGgx¿ 
1

2
, 

1

4
, 

3

4
, 

1

3
, 

2

3
 b]vfpg / dflysf 

dWo] s'g} b'O{cf]6f 

leGgx¿ t'ngf ug{ 

 ;dfg x/ ePsf 

leGgx¿sf] t'ngf 

ug{  

 pko'St leGg, 

cg'ko'St leGg / 

ldl>t ;ª\Vof 

5'6\ofpg  

 cg'ko'St leGg / 

ldl>t ;ª\Vof 

Pscfk;df 

¿kfGt/0f ug{ 

 ;dfg x/ ePsf 

tLgcf]6f ;Ddsf] 

leGgsf] hf]8 / 

36fp ug{ 

 

 c;dfg x/ ePsf 

leGgx¿sf] t'ngf 

ug{  

 c;dfg x/ ePsf 

leGgsf] hf]8 / 

36fp ug{ 

 leGgsf] u'0fg / 

efu ug{ 

  

cª\sul0ft -

bzdnj_ 

   leGg, bzdnj, / 

k|ltztsf] 

;DaGwnfO{ :yflkt 

ug{  -lrqsf 

dfWodaf6_ 

 bzdnj / 

leGgnfO{ 

Pscfk;df 

¿kfGt/0f ug{  

 bzdnj 

;ª\Vofsf] hf]8 / 

36fp ug{ 

 bzdnjsf] u'0fg / 

efu  ug{ 

 

  

cª\sul0ft -

cg'kft / 

;dfg'kft_ 

     cg'kft / 

;dfg'kftsf] kl/ro 

lbg  

 cg'kft / 

;dfg'kft;DaGwL 

;d:ofx¿ ;dfwfg 

ug{  

cª\sul0ft -

gfkmf / gf]S;fg_ 

     k|ltzt ;dfj]z 

gePsf gfkmf / 

gf]S;fgsf 

;d:ofx¿ ;dfwfg 

ug{   

 k|ltzt ;dfj]z 

ePsf gfkmf / 

gf]S;fgsf 

;d:ofx¿ ;dfwfg 

ug{  

 5'6 k|ltzt ;dfj]z 

ePsf gfkmf / 

gf]S;fg;DaGwL 
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If]q Go"gtd l;sfO pknlAw 

sIff @ sIff # sIff $ sIff % sIff ^ sIff & sIff * 

;d:ofx¿ ;dfwfg 

ug{ 

cª\sul0ft  -

P]lss lgod_ 

     PsfO j:t'sf] 

dfgsf cfwf/df w]/} 

j:t'sf] dfg / w]/} 

j:t'sf] dfgsf 

cfwf/df PsfO 

j:t'sf] dfg kQf 

nufpg 

 k|ToIf / ck|ToIf 

ljr/0fsf] k|of]u u/L 

b'O{cf]6f rn ;dfj]z 

ePsf ;d:ofx¿ 

;dfwfg ug{ 

 k|ToIf ljr/0f / 

ck|ToIf ljr/0fsf] 

k|of]u u/L tLgcf]6f 

;Dd rn ;dfj]z 

ePsf ;d:ofx¿ 

;dfwfg ug{   

cª\sul0ft  -

;fwf/0f Aofh_ 

       ;fwf/0f 

Aofh;DaGwL ;d:of 

;dfwfg ug{ 

gfk  -;do_  38L x]/L 306f / 

ldg]6df ;do eGg 

/ n]Vg  

 Sofn]G8/ x]/]/ s'g} 

lbgsf] ldlt -;fn, 

dlxgf, ut] / af/_ 

eGg / n]Vg   

 38L x]/L 306f, 

ldg]6 / ;]s]G8df 

;do eGg / n]Vg 

 s'g} sfddf nfu]sf] 

;do kQf nufpg  

 ;dosf PsfOx¿ 

Pscsf{df ¿kfGt/ 

ug{ 

 

    

gfk  -d'b|f_  ¿kfGt/ ug{ gkg]{ 

d'b|f;DaGwL hf]8 / 

36fp ug{  

 ?lkofFnfO{ k};fdf / 

k};fnfO{ ?lkofFdf 

¿kfGt/ ug{ 

?lkofF tyf 

k};f;DaGwL u'0fg / 

efu ug{ 

    

gfk -b'/L_ 

 

 j:t'sf] nDafO 

;]lG6ld6/ :s]ndf 

cg'dfg gfKg 

 ld6/nfO{ ;]lG6ld6/ 

/ ;]lG6ld6/nfO{ 

ldlnld6/df ¿kfGt/ 

ug{  

b'/Lsf PsfOx¿nfO{ 

Pscsf{df ¿kfGt/ 

ug{ -;]lG6ld6/ / 

ldlnld6/, ld6/ / 

;]lG6ld6/, 

lsnf]ld6/ / ld6/_ 

  OGr, km'6, 

;]lG6ld6/ / 

ld6/sf] cfk;L 

;DaGw :yflkt ug{  

  

gfk -tf}n_  lsnf]u|fd / u|fdsf] 

;DaGw atfpg 

 lsnf]u|fdnfO{ u|fddf 

¿kfGt/ ug{  

tf}nsf PsfOx¿nfO{ 

Pscfk;df ¿kfGt/ 
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If]q Go"gtd l;sfO pknlAw 

sIff @ sIff # sIff $ sIff % sIff ^ sIff & sIff * 

ug{ -lsnf]u|fd / u|fd, 

lsnf]u|fd / lSjG6n_ 

gfk -Ifdtf_   ln6/ / ldlnl6/nfO{ 

Pscfk;df ¿kfGt/ 

ug{  

gfksf PsfOx¿sf] 

¿kfGt/0f 

   

gfk -kl/ldlt, 

If]qkmn / 

cfotg_ 

 

 ;dfg k|s[ltsf 

s'g} b'O{cf]6f 

;txsf]  cjnf]sg 

u/L If]qkmn t'ngf 

ug{  

 ju{ sf]7fx¿sf] 

;ª\Vof ug]/ juf{sf/ 

jf cfotfsf/  

;dtnLo ;txsf] 

If]qkmn kQf nufpg 

 juf{sf/ sf]7fx¿ 

k|of]u u/]/ 

cfotfsf/ / 

juf{sf/ ;txsf]  

If]qkmn / kl/ldlt 

kQf nufpg    

 nDafO / 

rf}8fOsf 

cfwf/df  

cfotfsf/ / 

juf{sf/ ;txsf] 

If]qkmn / 

kl/ldlt kQf 

nufpg 

 PsfO 3g ug]/ 

3g / if8\d'vfsf] 

cfotg kQf 

nufpg  

 juf{sf/ / 

cfotfsf/ ;txsf] 

kl/ldlt / If]qkmn 

kQf nufpg  

 if8\d'vf / 3gsf] 

cfotg kQf 

nufpg 

 lqe'hfsf/  ;txsf] 

kl/ldltsf] kQf 

nufpg  

 7f]; j:t' -if8\d'vf / 

3g_ sf ;txsf] 

If]qkmn /  / 

cfotg;DaGwL 

;d:ofx¿ ;dfwfg 

ug{   

 j[Qsf] efux¿sf] 

klxrfg ug{  

 lqe'h / rt'e{'hsf] 

If]qkmn kQf nufpg  

 j[Qsf] If]qkmn kQf 

nufpg] ;"q :yflkt 

u/L k|of]u ug{  

tYofª\szf:q   lbOPsf] tflnsfaf6 

hfgsf/L lng lbg  

 lbOPsf] 

lrqu|fkmaf6 

;b:ox¿sf] ;ª\Vof 

ug]/ tflnsfdf 

k|:t't ug{ 

 lrqu|fkm agfpg  lbOPsf] 

:tDelrqaf6 

hfgsf/L lng / lbg 

 lbOPsf] jf 

;ª\sng ul/Psf] 

tYofª\snfO{ 

tflnsfdf k|:t't 

ug{ 

 juf{ª\lst sfuh 

(square grid) 

sf] k|of]u u/L 

:tDelrq agfpg 

 tYofª\snfO{ ldnfg 

lrx\g k|of]u u/L  

af/Daf/tf 

tflnsfdf k|:t't 

u/L ;fwf/0f :tDe 

lrq lgdf{0f ug{  

 lbOPsf] tYofª\saf6 

/]vflrq lgdf{0f ug{  

 tYofª\saf6 

ax':tDelrq lgdf{0f 

ug{  

 j[Qlrqaf6 hfgsf/L 

lng lbg / 

tYofª\saf6 j[Qlrq 

lgdf{0f ug{  

 j}olSts >]0fLsf] 

dWos, dlWosf / 

l/t kQf nufpg 

lan / ah]6    lan  / ah]6 x]/L 

;"rgf lng / lbg 

    

aLhul0ft -

3ftfª\s_ 

     3ftfª\ssf] 

cjwf/0ff ljsf; 

ug{ 

 3ftfª\ssf] ;/n ug{ 

-u'0fg, efu / 

z'Go3ft lgod_ 

 3ftfª\ssf lgod 

k|of]u u/L 

;/nLs/0f ug{ 
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If]q Go"gtd l;sfO pknlAw 

sIff @ sIff # sIff $ sIff % sIff ^ sIff & sIff * 

aLhul0ft -

lahLo 

cleJo~hs_  

   rn / crn /fzL 

klxrfg ug{ 

 ;hftLo tyf 

ljhftLo kbx¿ 

5'6\ofpg   

 ;hftLo kbx¿sf] 

hf]8 / 36fp ug{ 

 ljhLo 

cleJo~hsx¿sf] 

hf]8, 36fp, u'0fg, 

efu ug{  

 ljhLo 

cleJo~hsx¿sf] 

u'0fg / efu ug{  

 (a  b)2
  sf] ;"q 

:yflkt u/L k|of]u 

ug{ 

 ljhLo 

cleJo~hssf] 

v08Ls/0f ug{  

 ljhLo 

cleJo~hsx¿sf] 

dxQd ;dfkjt{s 

(Highest 

Common 

Factor) / n3'Qd 

;dfkjTo{ (Lowest 

Common 

Multiple) kQf 

nufpg  

 ljhLo leGgx¿sf] 

;/nLs/0f ug{ 

aLhul0ft 

-;dLs/0f, 

c;dfgtf / 

u|fkm_ 

    a/fa/L tYo 
k|of]u u/L Ps 

rno'St ;dLs/0f 

xn ug{ 

 l6«sf]6f]dL lgodsf 

lrx\gx¿ k|of]u ug{  

 b'O{ rno'St /]vLo 

;dLs/0fsf]  

n]vflrq lvRg  

 

 b'O{ rno'St 

o'ukt/]vLo 

;dLs/0f xn ug{  

 ju{ ;dLs/0f xn 

ug{  

;d"x      ;d"xnfO{ ;ª\s]tdf 

n]Vg / ;d"x 

hgfpg] tl/sf 

atfpg 

 ;d"xsf] ;b:o eP 

gePsf] 5'6\ofpg 

 

 vfnL ;d"x, 

;dt'No, a/fa/, 

;Lldt / c;Lldt 

;d"xsf] kl/ro lbg 

 ;j{Jofks ;d"x / 

pk;d"xsf] kl/ro 

lbg   

 

 lbOPsf] ;d"xsf] 

pko'St / cg'ko'St 

pk;d"xx¿ lgdf{0f 

ug{  

 vlK6Psf / 

cnlUuPsf ;d"xx¿ 

5'6\ofpg  
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#= Go"gtd l;sfO pknlAw :t/ dfkgsf nflu ;fwg lgdf{0fsf cfwf/x¿ / sIffut of]hgf 

Go"gtd l;sfO pknlAwsf] ;"rLsf cfwf/df lgbfgfTds ;fwg ljsf;sf nflu k|Zg lgdf{0fsf ljifoj:t' lgwf{/0fsf nflu tn lbOPsf] tflnsf 

tof/ ul/Psf] 5 . tnsf] tflnsfdf l7s -_ lrx\g nufOPsf] l;sfO pknlAw ;DalGwt sIffsf] x'g] / ;f]eGbf kl5sf b'O{ sIffx¿sf nflu oL 

ljifoj:t'x¿af6 klg k|Zgx¿ agfpg ;lsg] u/L o; tflnsfdf Go"gtd l;sfO pknlAwsf ljifox¿ k|:t't ul/Psf] 5 . tflnsf @ df 5fofF 

kfl/Psf sf]7fx¿ ;DalGwt sIffdf nflu Go"gtd l;sfO pknlAw :t/ ePsf] s'/f Oª\lut u5{g\ . 

tflnsf @= ;fwg lgdf{0fsf nflu ljifoIf]q / sIffx¿sf] of]hgf 

ljifoIf]q l;sfO pknlAw 

sIff 

1 

sIff 

2 

sIff 

3 

sIff 

4 

sIff 

5 

sIff 

6 

sIff 

7 

sIff 

8 

Hofldlt 

  

  

  

  

  

  

  

  

  

!= HofldtLo cfsf/x¿ -j[Q, rt'e'{h, lqe'h_ sf] klxrfg ug{        

@= /]vfv08sf] gfk lng / lvRg         

#= sf]0fx¿sf lrGg / ?n/sf] k|of]u u/L sf]0f lvRg / gfd n]Vg        

$= rfFbsf] k|of]u u/L sf]0fx¿ gfKg / lvRg         

%= sf]0fsf k|sf/ -;dsf]0f, Go"gsf]0f, clwssf]0f_ 5'6\ofpg        

6= k|ltR5]lbt, ;dfgfGt/ / nDa /]vfx¿sf] klxrfg ug{        

7 sf]0fsf] cw{s / /]vfv08sf] nDafw{ssf] /rgf ug{         

*= #), ^) / () l8u|Lsf sf]0fx¿ /rgf ug{ -sDkf;af6_        

9= hf]8f sf]0fx¿sf] klxrfg ug{        

10= hf]8f sf]0fx¿;DaGwL HofldtLo tYox¿ k/LIf0f ug{         

!!= lqe'h / rt'e'{hsf zLif{laGb', e'hf / sf]0fx¿ klxrfg ug{         

12= sf]0f / e'hfsf cfwf/df lqe'hx¿sf] juL{s/0f ug{        

13= j[Qsf efux¿sf] klxrfg ug{         

14= cfot, ju{ / ;dfgfGt/ rt'{e'hsf u'0fx¿sf] vf]hL / k/LIf0f ug{        
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ljifoIf]q l;sfO pknlAw 

sIff 

1 

sIff 

2 

sIff 

3 

sIff 

4 

sIff 

5 

sIff 

6 

sIff 

7 

sIff 

8 

!%= cg'¿k cfs[lt lrGg         

16= 3g / if8\d'vfsf zLif{laGb', lsgf/f / ;tx 5'6\ofpg         

17= 3g / if8\d'vfsf zLif{laGb', lsgf/f / ;txsf] u0fgf ug{         

18= 3g / if8\d'vfsf zLif{laGb', lsgf/f / ;txsf] ;DaGw :yflkt ug{         

19 ;f]nL, uf]nf / a]ngfsf] kl/ro lbg        

20= cIf, rt'yf{+z / lgb]{zfª\ssf] wf/0ff ljsf; u/L rt'yf{+zdf laGb'x¿ cª\sg ug{         

21= n]vflrqdf lbOPsf] laGb'sf] lgb]{zfª\s kQf nufpg tyf laGb'x¿nfO{ c„\sg ug{        

22= ;dldtLo lrqx¿ lrGg        

23= lqe'hsf] k|of]uaf6 6];]n];g tof/ kfg{         

@$= :yfgfGt/0fsf] kl/ro lbg        

25= lbzf l:ylt / :s]n 8«Oªsf] kl/ro lbg        

cª \sul)ft -

;ª\Vofsf] 

!fg_ 

  

  

  

  

@^= tLg cª\s;Ddsf ;ª\Vofx¿nfO{ :yfgdfg tflnsfdf k|:t't ug{, :yfgdfg eGg, 

k9\g / n]Vg        

@&= !)) ;Ddsf ;ª\Vofx¿nfO{ cª\s / cIf/df n]Vg -b]jgfu/L / lxGb'c/]las 

b'j}df_         

@*= tLg cª\s;Ddsf ;ª\VofnfO{ t'ngf u/L a9\bf] / 36\bf] j|mddf n]Vg         

@(= tLg cª\s ;Ddn] ag]sf ;ª\Vofx¿df hf]/ / ljhf]/ ;ª\Vof klxrfg ug{        

#)= rf/ cª\s;Ddn] ag]sf ;ª\VofnfO{ glhssf] bz / ;odf z"GofGt ug{         

#!= of]ukmn !) ;Dd cfpg] hf]8  -xftnfuL gcfpg]_ ug{        

#@= !) ;Ddsf ;ª\Vofsf] 36fp ug{        
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ljifoIf]q l;sfO pknlAw 

sIff 

1 

sIff 

2 

sIff 

3 

sIff 

4 

sIff 

5 

sIff 

6 

sIff 

7 

sIff 

8 

cª \sul)ft -

ul)ftsf 

cfwf/e"t 

ls|of_ 

  

  

##= of]ukmn !)) ;Dd cfpg] hf]8 ug{ -xft nfuL cfpg] ;d]t_        

#$= !)) ;Ddsf ;ª\Vofsf] 36fp ug{ -;fk6L lng kg]{ ;d]t_        

#%= !) ;Ddsf] u'0fg tflnsf n]Vg        

#^= !) ;Ddsf] u'0fg tflnsfdf cfwfl/t eO{ b'O{ cª\s;Ddsf] ;ª\VofnfO{ !) ;Ddsf] 

;ª\Vofn] efu ug{ -lgz]if efu hfg]_        

#&= hf]8 / 36fp lj|mof k|of]u ePsf ;d:ofx¿ xn ug{         

#*= s'g} tLg lj|mof k|of]u ePsf ;/nLs/0f ug{        

 cª\sul0ft 

-k"0f{ ;ª\Vof_ 

  

  

  

#(= ! b]lv !)) ;Ddsf ?9 / ;+o'St ;ª\Vof 5'6\ofpg         

$)= u'0fgv08 / ckjTo{x¿ kQf nufpg        

$!= b'O{cf]6f ;ª\Vofx¿sf] dxQd ;dfjt{s / n3'Qd ;dfjTo{ kQf nufpg        

$@= !)) ;Ddsf ;ª\Vofx¿df ju{ ;ª\Vof / tL ;ª\Vofsf ju{d"n kQf nufpg         

$#= s'g} tLg lj|mof ;dfj]z ePsf ;d:ofx¿ ;dfwfg ug{         

 cª\sul0ft 

-cfg'kflts / 

cgfg'kflts 

;ª\Vof_ $$= cfg'kflts ;ª\Vofx¿sf] klxrfg ug{         

cª\sul0ft -

leGg, 

bzdnj / 

k|ltzt_ 

  

  

$%= lrqdfkm{t leGg b]vfpg / s'g} b'O{cf]6f leGgx¿ t'ngf ug{         

$^= pko'St leGg, cg'ko'St leGg / ldl>t ;ª\Vof 5'6\ofpg        

$&= leGgsf] hf]8 / 36fp ug{        

$*= leGgsf] u'0fg / efu ug{        

$(= bzdnj / leGgnfO{ Pscfk;df ¿kfGt/0f ug{         

%)= bzdnj ;ª\Vofsf] hf]8 / 36fp ug{         



13 
 

ljifoIf]q l;sfO pknlAw 

sIff 

1 

sIff 

2 

sIff 

3 

sIff 

4 

sIff 

5 

sIff 

6 

sIff 

7 

sIff 

8 

  

  

%!= bzdnj ;ª\VofnfO{ !), !)), !))) n] u'0fg / efu ug{         

%@= leGg / bzdnjnfO{ k|ltzt / k|ltztnfO{ leGg / bzdnjdf ¿kfGt/0f ug{        

%#= bzdnj ;ª\VofnfO{ !), !)), !))) n] u'0fg / efu ug{        

cª\sul0ft -

gfkmf / 

gf]S;fg, 

P]lss lgod_ 

%$= gfkmf gf]S;fgsf] kl/ro lbg        

%%= k|ltzt ;dfj]z gePsf gfkmf gf]S;fgsf ;d:of ;dfwfg ug{        

%^= k|ltzt ;dfj]z ePsf gfkmf gf]S;fgsf ;d:of ;dfwfg ug{        

%&= P]lss lgodsf] kl/ro lbg -PsfOdfgaf6_ w]/} / w]/} dfgaf6 PsfO dfg kQf 

nufpg]_ 

     



 

gfk -;do, 

b'/L, tf}n, 

Ifdtf, d'b|f_ 

%*= ;do, b'/L, tf}n, Ifdtf, d'b|fsf PsfOx¿sf] kl/ro lbg         

%(= ;do, b'/L, tf}n, Ifdtfsf PsfOx¿sf] ¿kfGt/0f ug{ 

       

If]qldlt 

^)= cfotsf/ ;txsf] kl/ldlt / If]qkmn kQf nufpg        

^!= if8\d'vf / 3gsf] cfotg kQf nufpg        

aLh ul0ft 

  

  

  

  

  

  

  

  

  

^@= sf]7f ;ª\s]tsf] k|of]u u/L hf]8, 36fp, u'0fg / efu ug{        

^#= rn / crn /fzLsf] klxrfg lbg        

^$= ljhLo kb / cleJo~hssf] kl/ro lbg        

^%= ;hftLo kbsf] hf]8 / 36fp ug{        

^^= ljhLo cleJo~hssf] hf]8 / 36fp ug{        

^&= ljhLo cleJo~hssf] u'0fg ug{        

^*= ljhLo cleJo~hssf] efu ug{        

^(= Ps rno'St ;dLs/0fsf] xn -a/fa/L tYo_ ug{        

&)= b'O{ rno'St /]vLo ;dLs/0fsf] n]vflrq lvRg        

71= (a  b)2 sf] ;"q :yflkt u/L k|of]u ug{          
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ljifoIf]q l;sfO pknlAw 

sIff 

1 

sIff 

2 

sIff 

3 

sIff 

4 

sIff 

5 

sIff 

6 

sIff 

7 

sIff 

8 

&@= 3ftfª\ssf lgodsf] k|of]u u/L ;/n ug{ -u'0fg, efu / z"Go 3ft lgod_         

tYofª\szf:q 

  

  

  

&#= lrqu|fkm / tflnsf k9L ;"rgf lng / lbg        

&$= af/u|fkm / lan k9L ;"rgf lng / lbg        

&%= lbOPsf] tYofª\scg';f/ af/u|fkm lgdf{0f ug{        

&^= lbOPsf] tYofª\scg';f/ /]vflrq lgdf{0f ug{        

;d"x 

&&= ;d"xsf] kl/ro -;b:o klxrfg_ lbg        

&*= vfnL ;d"x, a/fa/ ;d"x, ;Lldt / c;Lldt ;d"xsf] kl/ro lbg        

 

dfly tflnsf @ df lbOPsf] ;fwg lgdf{0fsf nflu ljifoIf]q / sIffx¿sf] of]hgfsf cfwf/df lgDgfg';f/ sIffut ¿kdf Go"gtd l;sfO k/LIf0f 

9fFrfsf] ljsf; ul/Psf] 5 . 
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sIff # k|j]zsf nflu Go"gtd l;sfO k/LIf0f 9fFrf 

of] Go"gtd l;sfO k/LIf0f 9fFrf sIff @ k"/f u/]sf ljBfyL{sf] l;sfO cj:yf klxrfgsf nflu 

k/LIf0f ;fwg ljsf; tyf cj:yf klxrfg kZrft\ Remedial Teaching ug{sf nflu tof/ 

ul/Psf] 5 . oxL 9fFrfdf /xL lzIfsn] lzIf0f ug{ tyf k/LIf0f k|Zg lgdf{0f ug'{kg]{ 5 . k|Zg 

lgdf{0f ubf{ ;DalGwt tNnf] sIff / ;f]eGbf tnsf c¿ b'O{ sIffsf l;sfO pknlAw tyf 

ljifoj:t'df ;d]t cfwfl/t eP/ k|Zg ;f]Wg ;lsg] 5 h;n] ubf{ sdhf]/ l;sfO ePsf 

ljBfyL{nfO{ tNnf] s'g sIffsf] l;sfO pknlAw tyf ljifoj:t'df cfwfl/t eO{ l;sfO lj|mofsnfk 

ug'{k5{ eGg] lgbfg ug{ ;lsg] 5 .  

1. HofldtLo cfsf/x¿ -j[Q, lqe'h / rt'{e'h_ sf] klxrfg ug{  

2. tLg cª\s;Ddsf ;ª\Vofx¿nfO{ :yfgdfg tflnsfdf k|:t't ug{, :yfgdfg eGg, k9\g 

/ n]Vg  

3. !)) ;Ddsf ;ª\VofnfO{ cª\s / cIf/df n]Vg  

4.  tLg cª\s;Ddsf ;ª\VofnfO{ t'ngf u/L a9\bf] / 36\bf] j|mddf n]Vg 

5. tLg cª\s;Ddn] ag]sf ;ª\Vofdf hf]/ / ljhf]/ ;ª\Vof klxrfg ug{ 

6. of]ukmn !)) ;Dd cfpg] hf]8 ug{ -xftnflu cfpg] ;d]t_ 

7. !)) ;Ddsf ;ª\Vofsf] 36fp ug{  

8. !) ;Ddsf] u'0fg tflnsf n]Vg 

9. !) ;Ddsf] u'0fg tflnsfdf cfwfl/t eO{ b'O{ cª\s;Ddsf] ;ª\VofnfO{ !) ;Ddn] -

lgz]if efu hfg]_ efu ug{ 

10. lrqu|fkm / tflnsf k9L hfgsf/L lng / lbg 
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sIff $ k|j]zsf nflu Go"gtd l;sfO k/LIf0f 9fFrf 

of] Go"gtd l;sfO k/LIf0f 9fFrf sIff # k"/f u/]sf ljBfyL{sf] l;sfO cj:yf klxrfgsf nflu 

k/LIf0f ;fwg ljsf; tyf cj:yf klxrfg kZrft\ Remedial Teaching ug{sf nflu tof/ 

ul/Psf] 5 . oxL 9fFrfdf /xL lzIfsn] lzIf0f ug{ tyf k/LIf0f k|Zg lgdf{0f ug'{kg]{ 5 . k|Zg 

lgdf{0f ubf{ ;DalGwt tNnf] sIff / ;f]eGbf tnsf c¿ b'O{ sIffsf l;sfO pknlAw tyf 

ljifoj:t'df ;d]t cfwfl/t eP/ k|Zg ;f]Wg ;lsg] 5 h;n] ubf{ sdhf]/ l;sfO ePsf 

ljBfyL{nfO{ tNnf] s'g sIffsf] l;sfO pknlAw tyf ljifoj:t'df cfwfl/t eO{ l;sfO lj|mofsnfk 

ug'{k5{ eGg] lgbfg ug{ ;lsg] 5 . 

1.  /]vfv08sf] gfk lng / lvRg  

2. sf]0fx¿ lrGg / ?n/sf] k|of]u u/L sf]0f lvRg / gfd n]Vg  

3. kfFr cª\s;Ddsf ;ª\Vofx¿nfO{ :yfgdfg tflnsfdf k|:t't ug{, :yfgdfg eGg, k9\g 

/ n]Vg 

4. xhf/;Ddsf ;ª\Vof uGtL ug{, lrGg / n]Vg -cª\s / cIf/df_ 

5.  rf/ cª\s;Ddsf] ;ª\VofnfO{ t'ngf u/L a9\bf] / 36\bf] j|mddf n]Vg -;ª\s]tsf] k|of]u 

u/L t'ngf;d]t_ 

6.  of]ukmn !))) ;Dd cfpg] hf]8 ug{ -xftnflu cfpg]_  

7. !))) ;Ddsf ;ª\Vofsf] 36fp ug{ -;fk6L lng'kg]{_ 

8. tLg cª\s;Ddsf] ;ª\VofnfO{ b'O{ cª\s;Ddsf] ;ª\Vofn] u'0fg ug{  

9. tLg cª\s;Ddsf] ;ª\VofnfO{ !) ;Ddsf] ;ª\Vofn] efu ug{  

10.  lrqaf6 leGg b]vfpg / s'g} b'O{cf]6f leGgx¿ t'ngf ug{ -cfwf, Ps rf}yfO, tLg 

rf}yfO, Ps ltxfO, b'O{ ltxfO_ 

11.  ;do, b'/L, tf}n, Ifdtf, d'b|fsf PsfOx¿sf] kl/ro lbg 

12.  lrqu|fkmaf6 hfgsf/L lng / lbg 
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sIff % k|j]zsf nflu Go"gtd l;sfO k/LIf0f 9fFrf 

of] Go"gtd l;sfO k/LIf0f 9fFrf sIff $ k"/f u/]sf ljBfyL{sf] l;sfO cj:yf klxrfgsf nflu 

k/LIf0f ;fwg ljsf; tyf cj:yf klxrfg kZrft\ Remedial Teaching ug{sf nflu tof/ 

ul/Psf] 5 . oxL 9fFrfdf /xL lzIfsn] lzIf0f ug{ tyf k/LIf0f k|Zg lgdf{0f ug'{kg]{ 5 . k|Zg 

lgdf{0f ubf{ ;DalGwt tNnf] sIff / ;f]eGbf tnsf c¿ b'O{ sIffsf l;sfO pknlAw tyf 

ljifoj:t'df ;d]t cfwfl/t eP/ k|Zg ;f]Wg ;lsg] 5 h;n] ubf{ sdhf]/ l;sfO ePsf 

ljBfyL{nfO{ tNnf] s'g sIffsf] l;sfO pknlAw tyf ljifoj:t'df cfwfl/t eO{ l;sfO lj|mofsnfk 

ug'{k5{ eGg] lgbfg ug{ ;lsg] 5 .  

1. sf]0f lrGg / ?n/sf] k|of]u u/L sf]0f lvRg / gfd n]Vg  

2. rfFbsf] k|of]u u/L 0o b]lv 180o ;Ddsf sf]0fx¿ gfKg - !) n] lgz]if efu hfg]_ 

3. /]vfv08sf] gfk lng / lvRg  

4. lqe'h / rt'e'{hsf zLif{laGb', e'hf / sf]0fx¿ 5'6\ofpg  

5.  ;ft cª\s;Ddsf ;ª\Vofx¿nfO{ :yfgdfg tflnsfdf k|:t't ug{, k9\g / n]Vg  

6. rf/ cª\sn] ag]sf ;ª\Vofx¿nfO{ glhssf] bz / ;odf z"GofGt ug{  

7.  hf]8 / 36fp lj|mof k|of]u ePsf ;d:ofx¿ xn ug{ 

8.  pko'St leGg, cg'ko'St leGg / ldl>t ;ª\Vof 5'6\ofpg  

9.  ;do, b'/L, tf}n, Ifdtfsf PsfOx¿sf] ¿kfGt/0f ug{ 

10. juf{sf/ sf]7fx¿ ug]/ cfotsf/ juf{sf/ ;txsf] If]qkmn / kl/ldlt lgsfNg  

11.  sf]7f ;ª\s]tsf] k|of]u u/L hf]8, 36fp, u'0fg / efu ug{ 

12.  rn / crn /fzLsf] klxrfg ug{ 

13.  af/u|fkm / lan k9L ;"rgf lng / lbg  
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sIff ^ k|j]zsf nflu Go"gtd l;sfO k/LIf0f 9fFrf  

of] Go"gtd l;sfO 9fFrf sIff % af6 sIff ^ df k'u]sf ljBfyL{x¿ egf{ x'Fbfsf avt Remedial 

Teaching sf nflu tyf k/LIf0f ;fwg ljsf;sf nflu tof/ ul/Psf] 5 . oxL 9fFrfdf /xL 

lzIfsn] lzIf0f ug{ tyf k/LIf0f k|Zg lgdf{0f ug'{kg]{ 5 . k|Zg lgdf{0f ubf{ ;DalGwt tNnf] 

sIff #, $ / % ;d]tsf ljifoj:t'df cfwfl/t k|Zg ;f]Wg ;lsg] 5 h;n] ubf{ sdhf]/ l;sfO 

ePsf ljBfyL{nfO{ tNnf] s'g sIffsf] l;sfO;d]t l;sfpg'k5{ eGg] lgbfg ug{ ;lsg] 5 .  

1. rfFbsf] k|of]u u/L sf]0fx¿ gfKg / lvRg  

2. sf]0fsf k|sf/ -;dsf]0f, Go"gsf]0f, clwssf]0f_ 5'6\ofpg  

3. juf{ª\lst sfuhdf nDa /]vf / ;dfgfGt/ /]vf lvRg  

4. 3g / if8\d'vfsf efux¿ -s'gf, ;tx, lsgf/f_ u0fgf ug{ 

5. ! b]lv !)) ;Ddsf ?9 / ;+o'St ;ª\Vof 5'6\ofpg  

6. s'g} tLg lj|mof k|of]u ePsf ;/nLs/0f ug{ -k"0f{ ;ª\Vof_  

7. nDafO / rf}8fOsf cfwf/df  cfotfsf/ / juf{sf/ ;txsf] If]qkmn / kl/ldlt kQf 

nufpg  

8. ;dfg x/ ePsf tLgcf]6f ;Ddsf] leGgsf] hf]8 / 36fp ug{ 

9. leGg / bzdnjnfO{ Pscfk;df ¿kfGt/0f ug{  

10.  bzdnj ;ª\Vofsf] hf]8 / 36fp ug{ 

11.  leGg / bzdnjnfO{ k|ltzt / k|ltztnfO{ leGg / bzdnjdf ¿kfGt/0f ug{ 

12.   PsfO 3g ug]/ 3g / if8\d'vfsf] cfotg kQf nufpg  

13.  lahLo kb / cleJo~hssf] kl/ro lbg  

14.  ;hftLo kbsf] hf]8 / 36fp ug{ 

15.  a/fa/L tYo k|of]u u/L Ps rno'St ;dLs/0f xn ug{ 
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sIff & k|j]zsf nflu Go"gtd l;sfO k/LIf0f 9fFrf 

of] Go"gtd l;sfO k/LIf0f 9fFrf sIff ^ af6 sIff & df k'u]sf ljBfyL{x¿ egf{ x'Fbfsf avt 

Remedial Teaching sf nflu tyf k/LIf0f ;fwg ljsf;sf nflu tof/ ul/Psf] 5 . oxL 9fFrfdf 

/xL lzIfsn] lzIf0f ug{ tyf k/LIf0f k|Zg lgdf{0f ug'{kg]{ 5 . k|Zg lgdf{0f ubf{ ;DalGwt tNnf] 

sIff $, % / ^ ;d]tsf ljifoj:t'df cfwfl/t k|Zg ;f]Wg ;lsg] 5 . h;n] ubf{ sdhf]/ l;sfO 

ePsf ljBfyL{x¿ tNnf] s'g sIffsf] l;sfO;d]t l;sfpg'k5{ eGg] lgbfg ug{ ;lsg] 5 .  

  

1. sf]0fsf] cw{s / nDafw{ssf] /rgf ug{ . 

2. sDkf;sf] k|of]uaf6 #), ^) / () l8u|Lsf sf]0fx¿ /rgf ug{  

3. k|ltR5]lbt, ;dfgfGt/ /]vf / nDa /]vfx¿ klxrfg ug{  

4. sf]0f / e'hfsf cfwf/df lqe'hx¿sf] juL{s/0f ug{ 

5. j[Qsf] efux¿sf] klxrfg ug{  

6. 3g / if8\d'vfsf] s'gf, ;tx / lsgf/fsf] ;DaGw :yflkt ug{  

7. ;f]nL, uf]nf / a]ngfsf] kl/ro lbg  

8. ;dldtLo lrqx¿ lrGg  

9. cIf, rt'yf{+z / lgb]{zfª\ssf] wf/0ff ljsf; u/L rt'yf{+zdf laGb'x¿nfO{ cª\sg 

(Plotting) ug{  

10. k"0f{;ª\Vofsf] ;/nLs/0f ug{  

11. u'0fgv08, ?9 u'0fgv08 / ckjTo{ kQf nufpg 

12. b'O{cf]6f ;ª\Vofsf] dxQd ;dfjt{s / n3'Qd ;dfjTo{ kQf nufpg  

13. !)) ;Ddsf ;ª\Vofdf ju{;ª\Vof / tL ;ª\Vofdf ju{d"n kQf nufpg    

14. c;dfg x/ ePsf leGgsf] hf]8 / 36fp ug{  

15. bzdnj ;ª\VofnfO{ 10, 100, 1000 n] u'0fg / efu ug{  

16. gfkmf gf]S;fgsf] kl/ro / k|ltzt ;dfj]z gePsf gfkmf / gf]S;fg;DaGwL ;d:of 

;dfwfg ug{  

17.  P]lss lgodsf] kl/ro lbg -PsfOdfgaf6 w]/} / w]/} dfgaf6 PsfO dfg kQf nufpg]_ 

18.  cfotsf/ ;txsf] kl/ldlt, If]qkmn / cfotg kQf nufpg 

19.  ;hftLo kbsf] hf]8 / 36fp ug{ 

20.  cleJo~hssf] hf]8, 36fp;DaGwL ;/nLs/0f ug{ 

21.  3ftfª\ssf] kl/ro lbg 

22.  Ps rno'St /]vLo ;dLs/0fsf] xn ug{ 

23.  l6«sf]6f]dL lgodsf lrx\gx¿ k|of]u ug{  

24.  lbOPsf] tYofª\scg';f/ af/u|fkm lgdf{0f ug{  

25. ;d"xnfO{ ;ª\s]tdf n]Vg / ;d"x hgfpg] tl/sf atfpg 

26. ;d"xsf] ;b:o eP gePsf] 5'6\ofpg 
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sIff * k|j]zsf nflu Go"gtd l;sfO k/LIf0f 9fFrf 

of] Go"gtd l;sfO k/LIf0f 9fFrf sIff & af6 sIff * df k'u]sf ljBfyL{ egf{ x'Fbfsf avt 

Remedial Teaching sf nflu tyf k/LIf0f ;fwg ljsf;sf nflu tof/ ul/Psf] 5 . oxL 9fFrfdf 

/xL lzIfsn] lzIf0f ug{ tyf k/LIf0f k|Zg lgdf{0f ug'{kg]{ 5 . k|Zg lgdf{0f ubf{ ;DalGwt tNnf] 

sIff %, ^ / & ;d]tsf ljifoj:t'df cfwfl/t k|Zg ;f]Wg ;lsg] 5 h;n] ubf{ sdhf]/ l;sfO 

ePsf ljBfyL{x¿ tNnf] s'g sIffsf] l;sfO;d]t l;sfpg'k5{ eGg] lgbfg ug{ ;lsg] 5 .  

1. hf]8f sf]0fx¿sf] klxrfg ug{  

2. hf]8f sf]0fx¿;DaGwL HofldtLo tYox¿ k/LIf0f ug{ 

3. lbOPsf rt'e'{h -;dfgfGt/ rt'e{'h, cfot / ju{_ sf u'0fx¿sf] vf]hL / k/LIf0f ug{  

4. cg'¿k cfs[ltx¿ lrGg / vf]hL ug{   

5. 6]6«fx]8«g, 3g, cS6fx]8«g, 8f]8]sfx]8«g / cfOsf];fx]8«gsf] lsgf/f, ;tx / s'gfsf] 

;DaGw :yflkt ug{ 

6. n]vflrqdf lbOPsf] laGb'sf] lgb]{zfª\s kQf nufpg tyf laGb'x¿nfO{ cª\sg ug{  

7. cfot, ju{ / lqe'hsf] k|of]uaf6 6];]n];g tof/ kfg{ 

8. :yfgfGt/0fsf] kl/ro lbg  

9. lbzf l:ylt / :s]n 8«Oªsf] kl/ro lbg  

10. ?9 v08Ls/0faf6 ju{d"n / 3gd"n kQf nufpg 

11. rf/ cfwf/e"t lj|mof k|of]u u/L k"0ff{ª\ssf] ;/nLs/0f ug{ 

12. cfg'kflts ;ª\Vofx¿sf] klxrfg ug{  

13. k|ltztsf] cjwf/0ff ;dfj]z ePsf ;d:of ;dfwfg ug{ 

14. k|ToIf / ck|ToIf ljr/0fsf] cjwf/0ff / k|of]u ug{ 

15. k|ltzt ;dfj]z ePsf] gfkmf gf]S;fgsf ;d:of ;dfwfg ug{  

16. lqe'hfsf/ ;txsf] kl/ldlt kQf nufpg  

17. 7f]; j:t'sf ;txsf] If]qkmn / cfotg;DaGwL ;d:of ;dfwfg ug{  

18. lbOPsf] tYofª\saf6 /]vflrq lgdf{0f ug{  

19. tYofª\saf6 ax':tDelrq lgdf{0f ug{ 

20. 3ftfª\ssf] ;/n ug{ -u'0fg, efu / z"Go3ft lgod_ 

21. lahLo cleJo~hsx¿sf] u'0fg / efu ug{   

22. (a  b)2 sf] ;"q :yflkt u/L k|of]u ug{ 

23. b'O{ rno'St /]vLo ;dLs/0fsf] n]vflrq lvRg  

24. vfnL ;d"x, ;dt'No, a/fa/, ;Lldt / c;Lldt ;d"xsf] kl/ro lbg  
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$= k/LIf0f ;fwg lgdf{0f / cª\sgsf nflu lzIfsnfO{ dfu{lgb]{zg 

o; v08df sIffut Go"gtd l;sfO k/LIf0f 9fFrfsf cfwf/df k/LIf0f ;fwg -k|Zg_ lgdf{0f 

ug'{sf ;fy} ;fwg lgdf{0f / cª\sgsf nflu lzIfsnfO{ dfu{lgb]{zg klg to ul/Psf] 5 . oxL 

9fFrfdf cfwfl/t eO{ cfjZostfcg';f/ lzIfsn] sIff # b]lv * ;Ddsf ;dfgfGt/ k|Zg lgdf{0f 

u/L lgbfgfTds k/LIf0f ;~rfng / ljBfyL{sf] hjfkmnfO{ cª\sg ug'{kg]{ x'G5 . o;sf nflu 

sIffut ¿kdf gd'gf k|Zg;lxtsf] k|Zg lgdf{0f / ;Defljt pQ/;lxt cª\sgsf nflu lgb]{zg 

o;k|sf/ 5 M 

sIff #   

k|Zg g= ! n] HofldtLo cfsf/x¿ -j[Q, lqe'h / rt'e'{h_ sf] klxrfg ug{ eGg] l;sfO pknlAw 

dfkg ug{ vf]lhPsf] xf] . csf]{ k|Zg lgdf{0f ubf{ lbOPsf h:t} lsl;dsf] HofldtLo cfsf/x¿ 

lrGg] jf cfsf/sf] gfd n]Vg] h:tf k|Zg klg agfP/ ljBfyL{sf] k/LIf0f ug{ ;Sg'x'g] 5 .  

k|Zg g= != lbOPsf HofldtLo cfs[lt hgfpg sf]i7sleq lbOPsf gfddWo]af6 pko'St gfd 

5gf]6 u/L sf]7fdf n]Vg'xf];\ .  

-j[Q, rt'e'{h, l;wf /]vf, jj|m /]vf, laGb', lqe'h_ 

.Write the appropriate name of the given geometrical shape in the box by selecting the 
options provided in the brackets. 
 (circle, quadrilateral, straight line, curved line, point, triangle)    

 

-s_ 

 

-v_ 

 

-u_ 

 

-3_  

 ………………..  ……………….  ……………….  ………………… 
 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf $ gDa/ k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ lqe'h -v_ j[Q  -u_ rt'e'{h   -3_ jj|m /]vf 

 

k|Zg g= @ n] !)) ;Ddsf ;ª\Vof uGtL ug{, lrGg / n]Vg -cª\s, cIf/df_ ljBfyL{sf] Ifdtf 

dfkg ug{ vf]lhPsf] xf] . oxfF lbOPsf k|Zgafx]s cGo k|Zg lgdf{0f ubf{ !)) leqsf 

;ª\Vofx¿nfO{ cª\s / cIf/df -b]jgfu/L / lxGb'c/]las b'j}df_ n]Vg], l;k dfkg x'g] u/L k|Zg 

lgdf{0f ug'{kg]{ 5 .  

k|Zg g= @=  -s_ lbOPsf ;ª\VofnfO{ cIf/df n]Vg'xf];\ . Write the given numbers in words. 
 -c_ @#  =======================       

       -cf_ *&  =======================       

-v_ lbOPsf ;ª\VofnfO{ cª\sdf n]Vg'xf];\ . Write the given numbers in numerals. 

 -c_ rf}lt; =======================      

       -cf_ a};6\7L =======================      

       -O_ ;trfln;  =======================      

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 



22 
 

-s_ -c_ t]O;   -cf_ ;tf;L   

-v_ c_ #$   -cf_ ^@  O_ $& 

gf]6 M != ljBfyL{n] lxGb'c/]las k4ltaf6 jf b]jgfu/L k4lt b'j}af6 n]v]df k"/f cª\s lbg'xf];\ 

.  

     @= ljBfyL{sf] n]vfOdf z'4 n]vfOnfO{ eGbf ul0ftLo ¿kdf ;xL eP gePsf] olsg u/L 

cª\s k|bfg ug'{xf];\ . 

 

k|Zg gDa/ # n] tLg cª\s;Ddsf ;ª\Vofx¿nfO{ t'ngf u/L a9\bf] / 36\bf] j|mddf n]Vg] 

Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . oxfF lbOPsf afx]s cGo k|Zg lgdf{0f ubf{ b]jgfu/L jf 

lxGb' c/]las  ;ª\VofnfO{ a9\bf] jf 36\bf] j|mddf n]Vg] h:tf k|Zg lgdf{0f ug{ ;Sg'x'g] 5 . 

 

#= 7'nf] ;ª\Vofdf uf]nf] -_ lrx\g nufpg'xf];\ . Circle () the larger number.  
 -s_ %^      ^%     

       -v_ ()     **     

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ ^% nfO{ uf]nf] nufPdf  

-v_ () nfO{ uf]nf] nufPdf  

 
k|Zg gDa/ $ n] tLg cª\s;Ddn] ag]sf ;ª\Vofdf hf]/ / lahf]/ ;ª\Vofsf] klxrfg ug]{  

l;ksf] dfkg ug{ vf]lhPsf] 5 . csf]{ k|Zg lgdf{0f ubf{ oxfF lbOPsf h:t} k|s[ltsf lxGb' 

c/]las ;ª\Vofaf6 cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 . 

 

$= hf]/ ;ª\Vofx¿df uf]nf]  lrx\g nufpg'xf];\ . Circle () even numbers. 
  
 $     & ( !^ @& !*! @!*     

$, !^ / @!* df uf]nf] lrx\g nufPdf ! cª\s k|bfg ug'{xf];\ .  

 
 

k|Zg gDa/ % n] of]ukmn !)) ;Dd cfpg] hf]8 -xft nflu cfpg];d]t _ / !)) ;Ddsf 

;ª\Vofsf] 36fp ug{, !) ;Ddsf] u'0fg tflnsf n]Vg / u'0fg tflnsfdf cfwfl/t eO{ (( 

;Ddsf] ;ª\VofnfO{ !) ;Ddsf] ;ª\Vofn] -lgMz]if efu hfg]_ efu ug{ ;Sg] l;ksf] dfkg ug{ 

vf]lhPsf] 5 . oxfF lbOPsf afx]s o:t} k|s[ltsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 . 

 

  



23 
 

%= lx;fa ug'{xf];\ . Calculate:                                   

 
-s_    @ * 

 + $ @ 

-v_     ( 

 #   

-u_     ^ 

 # 

-3_     

 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf $ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ &)   -v_ ^     -u_ !*   -3_ %   

 
k|Zg gDa/ ^ n] ul0ftsf cfwf/e't lj|mof;DaGwL ;fdfGo Jojxfl/s ;d:of ;dfwfg ug{ ;Sg] 

l;k dfkg ug{ vf]lhPsf] 5 . oxfF lbOPsf afx]s cGo k|Zg lgdf{0f ubf{ o:t} k|s[ltsf ul0ftsf 

cfwf/e"t lj|mof;DaGwL Jofjxfl/s ;d:of ;dfwfg ug]{ vfnsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 

5 . 

^= lbOPsf dWo] s'g ;d:of ;dfwfg ug{ 36fp lj|mof ug'{k5{ < ;xL ljsNkdf l7s -_ 

lrx\g nufpg'xf];\ . Which of the following problems should be solved using subtraction? 

Tick () the correct option.  

-s_ xl/nfO{ a'afn] !) ?lkofF  / cfdfn] % ?lkofF lbg'eof] . ca pgL;Fu hDdf slt ?lkofF 

eof] < Hari is given 10 rupees by father and  5 rupees by mother. How much rupees 

does he have now?  

-v_  Pp6f j|m]6df #) cf]6f cG8f 5g\ . % cf]6f j|m]6df sltcf]6f cG8f x'G5g\ < 

       A crate contains 30 eggs. How many eggs are in the 5 crate? 

-u_ /fd;Fu #% ?lkofF lyof] . !) ?lkofF vr{ u¥of] . cj p;Fu slt afFsL 5 < Ram had Rs. 

35. He spent Rs 10. Now how many rupees does he have left? 

-3_ %% cf]6f rsn]6 # hgfnfO{ a/fa/ afF8\bf Ps hgfn] slt cf]6f rsn]6 kfpF5g\ < 

     If 55 chocolates are distributed equally among 3 persons, how many chocolates each 

person will get? 

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-u_ nfO{ l7s lrx\g nufPdf jf u n]v]df 

k|Zg gDa/ & n] lrqu|fkm k9L ;"rgf lng / lbg ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . 

lbOPsf afx]s cGo k|Zg lgdf{0f ubf{ lrqu|fkm cWoog u/L tflnsLs/0f ug]{ h:tf k|Zg lgdf{0f 

ug{ ;Sg'x'g] 5 .  

  

$ @) 
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&= tnsf] lrqu|fkm cWoog ug'{xf];\ / lbOPsf k|Zgsf] pQ/ lbg'xf];\ . 

   Study the following pictograph and answer the questions. 
 

kmnkm"nx¿sf 

gfd (Name of 

fruits)  

kmnkm"nsf] ;ª\Vof (Number of Fruits) 

:ofp (Apple) 
        

;'Gtnf 

(Orange) 
    

    

e'OFs6x/ 

(pineapple)    

     

cDaf (Guava) 
     

   

 
-s_ sltcf]6f :ofp /x]5g\ <  How many apples are there ? ===========   

-v_ slt k|sf/sf kmnkm"n 5g\ < How many types of fruits are there? ===========  

-u_ s'g kmnkm"n ;a}eGbf sd /x]5 < Which fruit are minimum in number ?===========   

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ *     -v_ $  -u_ e'OFs6x/   

sIff $ 

k |Zg gDa/ ! n] sf]0fx¿ lrGg / ?n/sf] k|of]u u/L sf]0f lvRg / gfd n]Vg] l;ksf] dfkg ug{ 

vf]lhPsf] 5 . oxfF lbOPsf afx]s cGo k|Zg lgdf{0f ubf{ ?n/sf] k|of]u u/L sf]0f lvRg jf lbOP 

h:t} u/L sf]0fsf gfdx¿ n]Vg nuffpg] lsl;dsf k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .  

!= lbOPsf] sf]0fsf] gfd n]Vg'xf];\ . Write the name of the given angle.  

  
 
      ………………………… 

sf]0fsf] gfd ;xL tl/sfn] n]v]df ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ BAC  jf   sf]0f BAC    jf     BAC  
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k|Zg gDa/ @ n] /]vfv08sf] gfk lng / lvRg ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . oxfF 

lbOPsf h:t} k|s[ltsf jf /]vf lvRg] h:tf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .  

 
@=  /]vfv08 AB slt ;]=dL= nfdf] 5 < How long is the line segment AB ?     

  
   

 

 
  

 
  ============= ;]lG6ld6/ 

/]vfv08sf] ;xL gfk n]v]df ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ % jf 5    

k|Zg g= # n] !))) ;Ddsf ;ª\Vof uGtL ug]{, lrGg] / n]Vg] -cª\s / cIf/df_ l;ksf] dfkg 

ug{ vf]lhPsf] xf] . oxfF lbOPsf k|Zgafx]s cGo k|Zg lgdf{0f ubf{ !))) leqsf ;ª\VofnfO{            

-b]jgfu/L / lxGb'c/]las b'j}df_ cª\s / cIf/df n]Vg] h:tf l;kx¿ dfkg x'g] u/L k|Zg lgdf{0f 

ug{ ;Sg'x'g] 5 .   

#=  -s_ lbOPsf] ;ª\VofnfO{ cIf/df n]Vg'xf];\ . Write the given numbers in word. 

 -c_ @#   ======================================================   

-cf_ *(&  ======================================================    

-v_ lbOPsf] ;ª\VofnfO{ cª\sdf n]Vg'xf];\ . Write the given numbers in numerals.  

 -c_ k}lt;  =======================                    

-cf_ b'O{ ;o a};6\7L =======================      

-O_ Fifty seven  =======================   

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ -c_ t]O;   -cf_ cf7 ;o ;GtfgAa]   

-v_ -c_ #%   -cf_ @^@  -O_ 57  

gf]6 M !=ljBfyL{n] lxGb'c/]las k4ltaf6 jf b]jgfu/L k4lt b'j}af6 n]v]df k"/f cª\s lbg'xf];\ .       

@= ljBfyL{sf] n]vfOdf z'4 n]vfOnfO{ eGbf ul0ftLo ¿kdf ;xL eP gePsf] olsg u/L cª\s 

k|bfg ug'{xf];\ . 
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k|Zg gDa/ $ n] rf/ cª\s;Ddsf] ;ª\Vofsf] t'ngf ug]{ / eGbf 7'nf] / eGbf ;fgf] ;ª\s]tsf] 

k|of]u ug]{ Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo k|Zg lgdf{0f ubf{ o:t} k|s[ltsf 

b]jgfu/L ;ª\Vofaf6 k|Zg lgdf{0f ug{ ;Sg'x'g] 5 . 

 

$= < jf > lrx\gsf] k|of]u u/L ;ª\Vofsf] t'ngf ug'{xf];\ . Compare the given numbers using 

the symbol  < or >.                                                      

 -s_ 567 ====== 754 

 -v_ 456 ======== 125 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ 567 < 754  

-v_ 456 > 125 

k|Zg gDa/ % n] rf/ cª\s;Ddsf] ;ª\Vofsf] t'ngf u/L a9\bf] jf 36\bf] j|mddf n]Vg] Ifdtfsf] 

dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo k|Zg lgdf{0f ubf{ o:t} k|s[ltsf lxGb' c/]las 

;ª\Vofaf6 k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 . 

%= -s_ lbOPsf] ;ª\VofnfO{ 36\bf] j|mddf ldnfP/ n]Vg'xf];\ . (Write the given numbers in   

descending order) M  

          #), %^, $@ 

          ===========,  ===============,  ====================  

-v_ lbOPsf] ;ª\VofnfO{ a9\bf] j|mddf ldnfP/ n]Vg'xf];\ . (Write the given numbers in 

ascending order)M    

     @$#, &^$, !%%  

     ==========, ================, =================  

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ %^, $@, #)   

-v_ !%%, @$#, &^$ 

 
k|Zg gDa/ ^ n] ul0ftsf cfwf/e"t lj|mof;DaGwL ;fdfGo Jofjxfl/s ;d:ofx¿ ;dfwfg ug{ 

;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . oxfF lbOPsf afx]s o:t} k|s[ltsf ul0ftsf cfwf/e"t 

lj|mof;DaGwL Jofjxfl/s ;d:of ;dfwfg ug]{ vfnsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 . 
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^= lbOPsf dWo] s'g lx;fadf u'0fg ug'{k5{ < ;xL ljsNkdf l7s -_ lrx\g nufpg'xf];\ . 

Which of the following problems should be solved using multiplication?  Tick () the 

correct option.   

-s_ xl/nfO{{ a'afn] !) ?lkofF / cfdfn] % ?lkofF lbg'eof] . ca pgL;Fu hDdf slt ?lkofF 

eof] < 

    Hari is given 10 rupees by father and  5 rupees by mother. How much rupees does he 

have now?  

-v_ Pp6f j|m]6df #) cf]6f cG8f 5g\ . % cf]6f j|m]6df sltcf]6f cG8f x'G5g\ < A crate 

contains 30 eggs. How many eggs are in the 5 crate? 

-u_ /fd;Fu #% ?lkofF lyof] . !) ?lkofF vr{ u¥of] . cj p;Fu slt afFsL 5 < Ram had Rs. 

35. He spent Rs 10. Now how many rupees does he have left? 

-3_ %% cf]6f rsn]6 # hgfnfO{ a/fa/ afF8\bf Ps hgfn] sltcf]6f rsn]6 kfpF5g\ < 

     If 55 chocolates are distributed equally among 3 persons, how many chocolates each 

person will get? 

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-v_ nfO{ l7s lrx\g nufPdf jf v n]v]df 

 

k|Zg gDa/ & n] of]ukmn !))) ;Dd cfpg] hf]8 -xft nflu cfpg] ;d]t_, !))) ;Ddsf 

;ª\Vofsf] 36fp ug{, tLg cª\s;Ddsf] ;ª\VofnfO{ b'O{ cª\s;Ddsf] ;ª\Vofn] u'0fg ug{ / !) 

;Ddsf] ;ª\Vofn] efu ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . oxfF lbOPsf afx]s cGo 

k|Zg lgdf{0f ubf{ o:t} k|s[ltsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 . 

 

&= lx;fa ug'{xf];\ M Calculate         

                                  
-s_    * 

 + $ 

-v_  $%^ 

+ %^& 

-u_     @(( 

 @&#   

-3_     !@# 

   # 

-ª_     

 
;xL k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDd $ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ !@   -v_ !)@#     -u_ @^  -3_ #^(  -ª_ ^ 

 

k|Zg gDa/ * n] lrqnfO{ 5fFof kl/Psf efunfO{{ leGg -
1

2
,

1

4
,

3

4
,

1

3
,

2

3
_ df k|:t't ug]{ l;ksf] 

dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo k|Zg lgdf{0f ubf{ ljleGg cfs[ltsf c+zx¿sf] k|of]u 

u/L cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 . 

@$ 
$ 
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*= lrqdf 5fofF kfl/Psf efunfO{ leGgdf n]Vg'xf];\ . Write the shaded part of the figures in 

fraction.   
  

 -s_         -v_     

      .......................   ....................... 
;xL pQ/sf nflu ! cª\ssf b/n] @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ tLg efusf] @ efu jf 
2

3
 jf 

२

३
      -v_ rf/ efusf] ! efu jf 

1

4
 jf 

१

४
 

 
k|Zg gDa/ ( n] ;do, b'/L, tf}n, Ifdtf, d'b|fsf PsfOx¿sf] kl/ro lbg] l;ksf] dfkg ug{ 

vf]lhPsf] 5 . o;afx]s o:t} k|s[ltsf cGo k|Zg jf gfksf ljleGg PsfO;DaGwL cGo k|Zg 

lgdf{0f ug{ ;Sg'x'g] 5 . 

(=vfnL 7fFp eg'{xf];\ Fill in the blanks :      

-s_ ! lsnf]ld6/ (1 kilometer) = ================== ld6/ (meter) 

-v_ ! lsnf]u|fd (1 kilogram) = …………………. u|fd (gram) 

-u_ ! ?lkofF (1 rupees)  = ……………………….. k};f (paisa) 

;xL pQ/sf nflu ! cª\ssf b/n] # cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ !))) jf 1000      -v_ !))) jf 1000   -u_ !)) jf 100 
 
k|Zg gDa/ !) n] lrqu|fkmaf6 ;"rgf lng / lbg, lrqu|fkm agfpgsf ;fy} t'ngf ug{ ;Sg] 

Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo k|Zg lgdf{0f ubf{ lrqu|fkmnfO{ ;ª\s]tsf 

¿kdf n]Vg] h:tf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .  

 !)= lbOPsf] tflnsfaf6 lrqu|fkm agfpg'xf];\ . Make a pictograph from the given table.  

lrqsf] gfd ;ª\Vof 

lqe'h !) 

rt'e'{h & 

j[Q !@ 

tf/f ^ 

 lrqu|fkm agfpg'xf];\ M 

lrqsf] gfd lrq ;ª\Vof 

lqe'h  

rt'e'{h  

j[Q  

tf/f  
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tflnsfdf lbOPsf] tYofª\saf6 lrqu|fkm agfPdf @ cª\s k|bfg ug'{xf];\ .    

sIff % 

k|Zg gDa/ ! n] lqe'h / rt'e'{sf zLif{laGb', e'hf / sf]0fx¿ 5'6\ofpg]] l;ksf] dfkg ug{ 

vf]lhPsf] 5 . o;afx]s cGo k|Zg lgdf{0f ubf{ rt'e'{hsf efux¿ Kflxrfg ug{ nuffpg] 

lsl;dsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .  

!= lqe'hsf efux¿nfO{ jf0f lrx\gn] ;ª\s]t ul/Psf] 5 . ltgsf gfd n]Vg'xf];\  .  

   Write the name of the parts of a triangle indicated with arrow signs.   

 
 
 
 
 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

sf]0f / e'hf  

 
k|Zg gDa/ @ n] /]vfv08sf] gfk lng / lvRg ;Sg] Ifdtf dfkg ug{ vf]lhPsf] 5 . o;afx]ssf 

cGo k|Zgx¿ lgdf{0f ubf{ /]vf gfKg] o:t} k|s[ltsf cGo k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

@= lrqdf lbOPsf] ?n/ k|of]u u/L 6 ;]lG6ld6/ gfksf] /]vfv08 lvRg'xf];\ .  

   Draw a 6 cm line segment by using the ruler given in the picture.   

 

 

 

 

lbOPsf] gfksf] /]vfv08 lvr]df ! cª\s k|bfg ug'{xf];\ .   

k|Zg gDa/ # n] rfFbsf] k|of]u u/L 0 b]lv 180 ;Ddsf !) n] lgMz]if efu hfg] sf]0f gfKg] 

/ lvRg] l;ksf] dfkg ug{ vf]lhPsf] 5 . o;afx]s o:t} k|s[ltsf jf  !)— !) l8u|Lsf 

km/sdf aGg] cGo sf]0fx¿ gfKg] / lvRg] vfnsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .  
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#= lbOPsf sf]0fx¿sf] gfk n]Vg'xf];\ .  Write the measurement of the given angles. 

    

 

          ===================l8u|L       ================= l8u|L 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ %)  jf 50     -v_ !@) jf 120   

k|Zg gDa/ $ n] kfFr cª\s;Ddsf ;ª\Vof uGtL ug]{, lrGg] / n]Vg] -cª\s, cIf/df_ Ifdtfsf] 

dfkg ug{ vf]lhPsf] 5 . oxfF lbOPsf afx]s ((((( leqsf ;ª\VofnfO{ -b]jgfu/L / 

lxGb'c/]las b'j}_ cª\s / cIf/df n]Vg] l;k dfkg x'g] u/L cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 . 

$= -s_ lbOPsf ;ª\VofnfO{ cIf/df n]Vg'xf];\ .  Write the given numbers in words.  

 -c_ !,*%&  =================================================================================             

-cf_ @$,^%) ================================================================================= 

-v_ lbOPsf ;ª\VofnfO{ cª\sdf n]Vg'xf];\ . Write the given numbers in numerals.   

 -c_ 5 xhf/ b'O{ ;o a};6\7L ============================ 

-cf_  Three hundred forty seven   ============================ 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf $ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ -c_ Ps xhf/ cf7 ;o ;GtfpGg  -cf_ rf}la; xhf/ 5 ;o krf; 

-v_ -c_ ^,@^@   -cf_ 347   

gf]6 M != ljBfyL{n] lxGb'c/]las k4ltaf6 jf b]jgfu/L k4lt b'j}af6 n]v]df k"/f cª\s lbg'xf];\.  

     @= ljBfyL{sf] n]vfOdf z'4 n]vfOnfO{ eGbf ul0ftLo ¿kdf ;xL eP gePsf] olsg u/L 

cª\s k|bfg ug'{xf];\ . 

k|Zg gDa/ % n] rf/ cª\sn] ag]sf ;ª\Vofx¿nfO{ glhssf] bz / ;odf z"GofGt ug]{ Ifdtfsf] 

dfkg ug{ vf]lhPsf] 5 . lbOPsf afx]s o:t} k|s[ltsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 . 
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%= vfnL 7fpF eg'{xf];\ . Fill in the blanks.     

-s_ @% sf] dflysf] bz ===================/ tnsf] bz =====================x'G5 . 

       The ten above 25 is ….. and the ten below it is …………………… 

-v_ &$% sf] dflysf] ;o ===================/ tnsf] ;o =====================x'G5 . 

       The hundred above 745 is ….. and the hundred below it is …………………… 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ #) / @)        -v_ *$% / ^$% 

k|Zg gDa/ ^ n] ;ft cª\s;Ddsf ;ª\Vofx¿nfO{ :yfgdfg tflnsfdf k|:t't ug]{, k9\g] / n]Vg] 

Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . lbOPsf afx]s o:t} k|s[ltsf cGo k|Zgx¿ lgdf{0f ug{ 

;Sg'x'g] 5 . 

^= -s_ ;ª\Vof 55370 nfO{ :yfgdfg tflnsfdf k|:t't ug'{xf];\ . Present the number 55370 in 

the place value table.  

bz xhf/ ( Ten 

Thousands) 

xhf/ (Thousands) ;o (Hundreds) bz (Tens)  Ps (Ones) 

     

-v_ ;ª\VofnfO{ cNklj/fd lbO{ n]Vg'xf];\ . Write the numbers with commas.   

cNklj/fd -,_ nufP/ n]Vbf When written with a comma (,):  ==================== 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_  

bz xhf/ ( Ten 

Thousands) 

xhf/ 

(Thousands) 

;o (Hundreds) bz (Tens)  Ps (Ones) 

5 5 3 7 0 

 

-v_ 55,370 

k|Zg gDa/ & n] of]ukmn (((( ;Dd cfpg] hf]8 -xft nflu cfpg];d]t_, 36fp ug{, tLg 

cª\ssf] ;ª\VofnfO{ b'O{ cª\s;Ddsf] ;ª\Vofn] u'0fg ug{ / tLg cª\ssf] ;ª\VofnfO{ !) ;Ddsf] 

;ª\Vofn] efu ug]{ l;ksf] dfkg ug{ vf]lhPsf] 5 . lbOPsf afx]s o:t} k|s[ltsf cGo k|Zgx¿ 

lgdf{0f ug{ ;Sg'x'g] 5 .   

&= lx;fa ug'{xf];\ Calculate M       
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-s_    8 0  7 

+4 6 2 

 

-v_   3 5 1 5 

+ 5 6 8 7 

-u_      8 2 4 9 

 6 2 7 3   

-3_     1  2 5 

   6 

-ª_    8       104 

 

 

          

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] % cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ 1269 -v_ 9202 -u_ 1976  -3_ 750  -ª_ 13   

k|Zg gDa/ * n] hf]8 / 36fp lj|mof k|of]u ePsf ;d:ofx¿ xn ug]{ l;ksf] dfkg ug{ 

vf]lhPsf] 5 . lbOPsf afx]s o:t} k|s[ltsf cGo k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

*= ;/n ug'{xf];\ . Simplify M       

      15 + 4  ̶  5 = ……………….. 

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ 14  

k|Zg gDa/ ( n] ldl>t ;ª\Vof klxrfg ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zg lgdf{0f ubf{ pko'St leGg, cg'ko'St leGg / ;dt"No leGgsf] klxrfg 

ug{] l;k dfkg ug]{ k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   

(= 
1

5
 s'g leGgsf] pbfx/0f xf] < What type of fraction 

1

5
 is?  

 -s_ ldl>t ;ª\Vof (mixed numbers) 

 -v_ pko'St leGg ;ª\Vof (proper fraction) 
 -u_ cg'ko'St leGg ;ª\Vof (improper fraction) 
 -3_ ;dt"No leGg ;ª\Vof (equivalent fraction) 

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-v_ df l7s lrx\g nufPdf jf -v_ n]v]df 

k|Zg gDa/ !) n] tf}n / b'/Lsf PsfOx¿sf] Pscsf{df ¿kfGt/0f ug{ ;Sg] Ifdtfsf] dfkg 

ug{ vf]lhPsf] 5 . oxfF lbOPsf afx]s ;do, Ifdtf, d'b|fsf PsfOx¿sf] ¿kfGt/0f ug{ nufpg], 

o;;DaGwL Jofjxfl/s ;d:of ;dfwfg ug]{ vfnsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .    

!)= -s_ 2 lsnf]u|fd 300 u|fdnfO{ u|fddf abNg'xf];\ . Convert 2 kg and 300g to gram.    

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

 



33 
 

-s_ 2300 u|fd jf 2300 dfq} n]v]df 

 
!)=-v_ /fdn] cfOtaf/ @ lsnf]ld6/ %)) ld6/ lxF8\of] / ;f]daf/ % lsnf]ld6/ &)) ld6/ 

lxF8\of] eg] b'j} lbgdf u/L hDdf slt b'/L lxF8\of] < kQf nufpg'xf];\ . If Ram walked 2 km and 

500 m on Sunday and 5 km and 700 m on Monday, how much distance did he walk in total? 
Find out.  

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

 * lsnf]ld6/ @)) ld6/ 

 

k|Zg gDa/ !! n] sf]7f ;ª\s]tsf] k|of]u u/L hf]8, 36fp, u'0fg / efu ug{ ;Sg'sf ;fy} rn 

/ crn /fzLsf] klxrfg ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . lbOPsf afx]s o:t} 

k|s[ltsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .  

!!= -s_ sf]7f ;ª\s]tdf pko'St ;ª\Vof eg'{xf];\ . Write the correct number in the box.  

 5 +          = 9  

-v_ x + y + 20 df rn / crn s'g s'g x'g\ < n]Vg'xf];\ I Identify and write the variable and 

constant in x + y + 20   

Rfn (Variable) ============ 

crn (constant) =========== 

k|To]s ;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ 4 

-v_ rn x / y, crn 20 

 

k|Zg gDa/ !@ n] :tDelrqaf6 ;"rgf lng / lbg ;Sg] Ifdtf dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zg lgdf{0f ubf{ :tDelrqaf6 ;"rgf lng] / lbg] h:tf k|Zg lgdf{0f ug{ 

;Sg'x'g] 5 .  
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!@= :tDelrq cWoog ug'{xf];\ / lbOPsf k|Zgsf] pQ/ lbg'xf];\ . Study the following bar 

graph and give the answer of the questions.  [3=3] 

 

-s_ cDaf sltcf]6f 5g\ < How many guavas are there? ================ 

-v_ :ofpeGbf ;'Gtnf sltn] a9L 5g\ < How many more oranges than apples ? ======== 

-u_ hDdf kmnkm"nx¿sf] ;ª\Vof slt x'G5g\ < What is the total number of fruits 

?===================   

k|To]s ;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ @%   -v_ !) n] a9L  -u_ ^) 

sIff ^ 

k|Zg gDa/ ! n] rfFbsf] k|of]u u/L sf]0f gfKg] / lvRg] l;ksf] dfkg ug{ vf]lhPsf] 5 . lbOPsf 

afx]s o:t} k|s[ltsf jf %—% l8u|Lsf km/sdf aGg] sf]0fx¿ gfKg] / lvRg] vfnsf cGo k|Zgx¿ 

lgdf{0f ug{ ;Sg'x'g] 5 .  

!= tn lbOPsf] sf]0f rfFbn] gfkL ;xL pQ/df l7s lrx\g nufpg'xf];\ . Tick the correct 

measurement of the angle by measuring with protractor.    

 
-s_ 30o -v_ 45o -u_ 60o -3_ 75o 

०

५

१०

१५

२०

२५

३०

स्याउ सुन्तला अनार अम्बा

फ
ल
फू
ल
क
ो
स
ङ्ख
य
ा

फलफूलको नाम
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;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ . 

;xL pQ/ 

-u_ df l7s lrx\g nufPdf jf -u_ n]v]df  

k|Zg gDa/ @ n] sf]0fsf] k|sf/ -;dsf]0f, Go'gsf]0f / clwssf]0f_ klxrfg ug{ ;Sg] l;ksf] 

dfkg ug{ vf]lhPsf] 5 . oxfF lbOPsf afx]s cGo k|Zg lgdf{0f ubf{ sf]0fx¿nfO{ gfKg] / sf]0fsf 

cfwf/df k|sf/ 5'6\ofpg] vfnsf k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   

@= hf]8f ldnfpg'xf];\ . Match the following.    
 

 
-s_ clwssf]0f (obtuse angle) 

 

-v_ Go"gsf]0f (acute angle) 

 

-u_ ;dsf]0f (right angle) 

 
 

  

;xL hf]8f ldnfPdf k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf # cª\s k|bfg ug'{xf];\ .  

k|Zg gDa/ # n] 3g / if8\d'vfsf efux¿ -s'gf, lsgf/f / ;tx_ klxrfg u/L u0fgf ug{ ;Sg] 

Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . lbOPsf k|Zg afx]s lqcfoflds j:t' -3g jf if8\d'vf_ sf 

cfs[ltx¿sf] efux¿ klxrfg u/L u0fgf ug]{ cGo k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .  

 

#= lbOPsf] lrqdf sltcf]6f s'gf, lsgf/f / ;tx 5g\ < How many vertices, edges and 

faces are there in the given picture?    

-s_ ;txx¿ (faces) =============== cf]6f  

-v_ lsgf/fx¿ (edges)============== cf]6f  

-u_ s'gfx¿ (Vertices) =============== cf]6f 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf # cª\s k|bfg ug'{xf];\ . 

;xL pQ/ 

;d"x s 
;d"x v 
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-s_ ^    -v_ !@    -u_ *  

k|Zg gDa/ $ n] juf{ª\lst sfuhdf nDa /]vf, ;dfgfGt/ /]vfx¿ lvRg ;Sg] l;ksf] dfkg 

ug{ vf]lhPsf] 5 . lbOPsf afx]s o:t} k|s[ltsf jf juf{ª\lst sfuhdf nDa /]vfx¿ 

lvRg vfnsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   

$= tnsf] juf{ª\lst sfuhdf Ps hf]8f ;dfgfGt/ /]vfx¿ lvRg'xf];\ . Draw a pair of 

parallel lines in the following graph paper.  

 

lbOPsf] juf{ª\lst sfuhdf Ps hf]8f ;dfgfGt/ /]vfx¿ lvr]df ! cª\s k|bfg ug'{xf];\ .  

k|Zg gDa/ % n] ?9 / ;+o'St ;ª\Vofsf] klxrfg ug{ ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . 

lbOPsf afx]s o:t} k|s[ltsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .  

 

%= #( s:tf] ;ª\Vof xf] < What type of number is 39?    

 -s_ ?9 ;ª\Vof (prime number)  

 -v_ ;+o'St ;ª\Vof (composite number) 

 -u_ hf]/ ;ª\Vof (even number) 

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-v_ df l7s lrx\g nufPdf jf -v_ n]v]df 

k|Zg gDa/ ^ n] s'g} tLg lj|mof k|of]u ePsf ;/nLs/0f ug{ ;Sg] Ifdtfsf] dfkg ug{ 

vf]lhPsf] 5 . lbOPsf afx]s o:t} k|s[ltsf Jofjxfl/s k|Zg lbP/ pSt k|Zgsf] ;/n ug{ 

nufpg] vfnsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   
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^= 45 + 2(6  2) = ?                              

 -s_ 49 

 -v_ 50 

 -u_ 53 

 -3_ 55 

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-u_ df l7s lrx\g nufPdf jf -u_ n]v]df 

k|Zg gDa/ & n] nDafO / rf}8fOsf cfwf/df cfotfsf/ ;txsf] If]qkmn / kl/ldlt kQf 

nufpg ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . lbOPsf k|Zg afx]s o:t} k|s[ltsf jf juf{sf/ 

;txsf] If]qkmn / kl/ldlt kQf nufpg] l;k dfkg ug]{ cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .  

&= lbOPsf] cfotsf] kl/ldlt / If]qkmn kQf nufpg'xf];\ . Find the perimeter and area of 

the given rectangle. 

 
kl/ldlt (perimeter) = ……………………………………………………………  

If]qkmn (area) = …………………………………………………………………  

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

kl/ldlt: 24 cm jf 24  / If]qkmn: 35cm2 jf  35 

k|Zg gDa/ * n] ;ft cª\s;Ddsf] ;ª\VofnfO{ :yfgdfg tflnsfdf k|:t't ug]{, k9\g] / n]Vg] 

Ifdtf dfkg ug{ vf]lhPsf] xf] . o; k|Zgdf lbOPsf k|Zgafx]s (((((( leqsf ;ª\Vofx¿nfO{ 

cª\s / cIf/df -b]jgfu/L / lxGb'c/]las b'j}df_ n]Vg], :yfgdfg tflnsfdf k|:t't ug]{ l;ksf] 

dfkg x'g] cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   

*= *$,%^& nfO{ cIf/df n]Vbf lbOPsf dWo] ;xL pQ/df l7s () lrx\g nufpg'xf];\ . Tick 

() on correct answer when 84,567 is written in words.  

-s_ cf7 nfv rf/ xhf/ kfFr ;o ;t;6\7L (Eight lakh four thousand five hundred and sixty 

seven) 

-v_ rf}/f;L nfv kfFr ;o ;t;6\7L (Eight four lakh five hundred and sixty seven) 

-u_ rf}/f;L xhf/ kfFr ;o ;t;6\7L (Eighty four thousand five hundred and sixty seven) 

-3_ cf7 xhf/ k}Ftfln; ;o ;t;6\7L (Eight thousand forty five hundred and sixty seven) 
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;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-u_ df l7s lrx\g nufPdf jf -u_ n]v]df 

 

k|Zg gDa/ ( n] ;dfg x/ ePsf] leGgsf] hf]8 ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . 

lbOPsf] k|Zg h:t} u/L ;dfg x/ leGgsf] hf]8;DaGwL cGo k|Zg jf 36fp;Fu ;DalGwt 

k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

 

(= hf]8 ug'{xf];\ M Add:  
3

5
+

1

5
  

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M  
4

5
 

k|Zg gDa/ !) n] bzdnjnfO{ leGgdf ¿kfGt/0f ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . 

oxfF lbOPsf] afx]s leGgnfO{ bzdnj jf k|ltzt / k|ltztnfO{ leGg jf bzdnjdf ¿kfGt/0f 

ug{ nufpg] vfnsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   

 

!)= 0.15 nfO{ leGgdf ¿kfGt/0f ubf{ slt x'G5 < What is the conversion of 0.15 into fraction 

?   

 -s_ 
1

5
  -v_ 

1

15
  -u_ 

15

10
  -3_ 

15

100
 

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-3_ df l7s lrx\g nufPdf jf -3_ n]v]df 

k|Zg gDa/ !! n] rn / crn kb klxrfg ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . oxfF 

lbOPsf] k|Zg h:t} k|s[ltsf jf ljhLo kb / cleJo~hssf] klxrfg ug]{ vfnsf cGo k|Zg 

lgdf{0f ug{ ;Sg'x'g] 5 .  

 
!!= x + 3 = 9 df rn / crn /fzL s'g s'g x'g\ < n]Vg'xf];\ .                                                                                    

Write the variable and constant in x + 3 = 9 ?     

      rn /fzL (Variable) M ================    

      crn /fzL (Constant) M ===============                  

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

rn: x / crn: 3 / 9 
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k|Zg gDa/ !@ n] ;hftLo kbsf] hf]8 / 36fp ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . 

oxfF lbOP h:t} k|s[ltsf cGo k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .  

 
!@= ;/n ug'{xf];\ . Simplify.       

3x + 2y - x + 4y  

 

;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M  

4x + 6y jf 2 (2x + 3y) 

k|Zg gDa/ !# n] a/fa/L tYo k|of]u u/L Ps rno'St ;dLs/0f xn ug{ ;Sg] Ifdtfsf] 

dfkg ug{ vf]lhPsf] 5 . oxfF lbOPsf] k|Zg h:t} k|s[ltsf cGo k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 

5 .   

 

!#= lbOPsf] ;dLs/0f xn ug{'xf];\ M Solve the given equation.    

  
 2x + 1 = 7 

 
;xL pQ/sf nflu ! cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M  

x = 3  

 

sIff & 

 

k|Zg gDa/ ! n] sf]0fsf] k|sf/ -;dsf]0f, Go"gsf]0f / clwssf]0f_ klxrfg ug{ ;Sg] l;ksf] 

dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{  lbOPsf sf]0fx¿nfO{ gfKg] / 

sf]0fsf cfwf/df k|sf/ 5'6\ofpg] vfnsf k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .  

!= vfnL 7fpFdf eg'{xf];\ M Fill in the blanks.  

-s_  90o sf] sf]0fnfO{ ================ elgG5 . The angle of 90o is called ……………….. 

-v_ 90o eGbf ;fgf] / 0o eGbf 7'nf] sf]0fnfO{===================elgG5 . The angle less than 90o 

and greater than 0o is called ……………… 
-u_ 90o eGbf 7'nf] / 180o eGbf ;fgf] sf]0fnfO{======================= elgG5 . The angle greater 

than 90o and smaller than 180o is called ……………………. 

 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf # cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ ;dsf]0f jf right angle n]v]df 

-v_ Go"gsf]0f jf acute angle n]v]df 

-u_ a[xtsf]0f jf obtuse angle n]v]df 
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k|Zg gDa/ @ n] sDkf;sf] k|of]u u/L sf]0fx¿ gfKg lvRg ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 

. o;afx]ssf cGo k|Zg lgdf{0f ubf{ sDkf;af6  #)
)
 / ()

) 
sf sf]0f /rgf ug{ nufpg] 

vfnsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .  

@= sDkf;sf] k|of]u u/L 60O
 sf] sf]0f /rgf ug'{xf];\ . Construct an angle of 60o by using 

compass.  

sDkf;n] 60O  sf] ;xL sf]0f lvr]df ! cª\s k|bfg ug'{xf];\ .  

 gf]6M k|f]6\ofS6/n] lvr]df cª\s glbg'xf];\ . 

 
k|Zg gDa/ # n] k|ltR5]lbt /]vfx¿ klxrfg ug]{ l;ksf] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf 

cGo k|Zg lgdf{0f ubf{ ;dfgfGt/ jf nDa /]vfx¿ klxrfg ug]{ l;k dfkg ug]{ k|Zgx¿ lgdf{0f 

ug{ ;Sg'x'g] 5 .   

#= lbOPsf hf]8L /]vfx¿ s:tf /]vfx¿ x'g\ < What type of lines are given in the pair of 

lines?  

 

 
 
 
 
 k|ltR5]lbt /]vf cyjf Intersecting lines n]v]df ! cª\s k|bfg ug'{xf];\ .  

 
k|Zg gDa/ $ n] e'hfsf cfwf/df lqe'hx¿sf] juL{s/0f ug{ ;Sg] l;ksf] dfkg ug{ 

vf]lhPsf] 5 . o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ sf]0fsf cfwf/df lqe'hx¿sf] juL{s/0f 

ug{ nufpg] vfnsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

 

$= tLgcf]6} e'hfx¿ a/fa/ ePsf] lqe'h s:tf] k|sf/sf] lqe'h xf] < What kind of triangle 

has three equal sides?  

-s_ ;dsf]0fL lqe'h (Right angled triangle) 
-v_ ;dl4afx' lqe'h (Isosceles triangle) 
-u_ ;dafx' lqe'h (Equilateral triangle) 
-3_ ljifdafx' lqe'h (Scalene triangle) 

 
-u_ ;dafx' lqe'h (Equilateral triangle) jf -u_ df lrXg nufPdf jf ;dafx' lqe'h jf 
(Equilateral triangle) n]v]df ! cª\s k|bfg ug'{xf];\ .  

k|Zg gDa/ % n] j[Qsf] efux¿sf] klxrfg ug{ ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zg lgdf{0f ubf{ j[Qsf] cGo efux¿ klxrfg ug{ nufpg] vfnsf k|Zgx¿ 

lgdf{0f ug{ ;Sg'x'g] 5 .   

A 

B 

C 

D 



41 
 

 

 %= lbOPsf] lrqsf cfwf/df ;f]lwPsf k|Zgsf pQ/ lbg'xf];\ M 
Answer the following question based on the given figure.  
 

-s_ OA  / CD nfO{ s] elgG5 < What is called for OA and CD ? 

 

 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  i) OA nfO{ cw{Jof; jf radius n]v]df 

ii) CD nfO{ hLjf jf Chord n]v]df 

k|Zg gDa/ ^ n] s'gf, lsgf/f / ;txsf] ;DaGw atfpg ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 

. o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ 3gfsf/ j:t'sf] s'gf, lsgf/f / ;txsf] ;DaGw kQf 

nufpg], ;f]nL, uf]nf / a]ngfsf] klxrfg ug]{ vfnsf k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .  

^= Pp6f if8\d'vfsf s'gf, lsgf/f / ;txsf] ;DaGw s] x'G5 < What is the relation between 

the vertices, edges and faces of a cuboid? 
-s_ V –E + F = 2 

-v_  V  E F  = 2 

-u_  V + E  F = 2 

-3_  V +E + F = 2 

 

-s_ V –E + F = 2 jf -s_ df lrXg nufPdf jf V –E + F = 2  n]v]df ! cª\s k|bfg ug'{xf];\ .  

 

k|Zg gDa/ & n] k"0f{ ;ª\Vofsf] ;/nLs/0f ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ o:t} k|s[ltsf jf Jofjxfl/s k|Zg lbP/ pSt k|Zgsf] 

;/n ug{ nufpg] vfnsf k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   

&= 80  [10  2(4  3)] = ?  

-s_ 6 

-v_ 10 

-u_ 16 
-3_ 40 

-v_ 10 jf -v_ df l7s lrXg nufPdf jf 10  n]v]df ! cª\s k|bfg ug'{xf];\ .  

k|Zg gDa/ * n] ?9 u'0fgv08 kQf nufpg ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf 

cGo k|Zgx¿ lgdf{0f ubf{ u'0fgv08 jf ckjTo{ kQf nufpg] vfnsf k|Zgx¿ lgdf{0f ug{ 

;Sg'x'g] 5 .   
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*= 24 sf] ?9 u'0fgv08 s'g xf] < Which of the following is the prime factor of 24?  
-s_ 3  8 

-v_ 2  12 

-u_ 6  3  2 

-3_ 2  2  2  3   

-3_ 2  2  2  3 jf -3_ df l7s lrXg nufPdf jf 2  2  2  3 n]v]df ! cª\s k|bfg 

ug'{xf];\ .  

k|Zg gDa/ ( n] b'O{cf]6f ;ª\Vofsf] dxQd ;dfjt{s -d=;=_ / n3'Qd ;dfjTo{ -n=;=_ kQf 

nufpg ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . lbOPsf] k|Zg h:t} d=;= / n=;=;Fu ;DalGwt 

cGo Jofjxfl/s k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   

(= 12 / 10 sf] n3'Qd ;dfkjTo{ -n=;=_ / dxQd ;dfjt{s -d=;=_ slt x'G5 < What is the 

LCM. and HCF of 12 and 10? 

-s_ n=;= 60, d=;= 2 (LCM. 60, HCF 2) 

-v_ n=;= 120, d=;= 3  (LCM 120, HCF 3) 

-u_ n=;= 120, d=;= 5 (LC.M. 120, H.C.F. 5) 

-3_ n=; 60, d=; 10 (L.C.M. 60, H.C.F. 10) 

 
-s_ n=;= 60, d=;= 2 (LCM. 60, HCF 2) jf -s_df l7s lrXg nufPdf jf n=;= 60, d=;= jf 
(LCM. 60, HCF 2) n]v]df ! cª\s k|bfg ug'{xf];\ .  

k|Zg gDa/ !) n] c;dfg x/ ePsf] leGgsf] hf]8 ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 

. o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ c;dfg x/ leGgsf] 36fp;Fu ;DalGwt k|Zgx¿ lgdf{0f 

ug{ ;Sg'x'g] 5 .   

!)= hf]8 ug'{xf];\ M Add:  
3

4
+

5

6
 

 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  i) 
9+10

12
  n]v]]df, 

ii) 
19

12
 jf 1

7

12
 n]v]]df 

 
k|Zg gDa/ !! n] gfkmf gf]S;fg ;DalGwt k|ltzt ;dfj]z gePsf ;d:of ;dfwfg ug{ ;Sg] 

Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ o:t} k|s[ltsf cGo 

k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   
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!!= Pp6f lstfanfO{ ? 200 df lsg]/ ? 170 a]Rbf slt gfkmf jf gf]S;fg x'G5 < What is the 

profit or loss when a book is bought for Rs. 200 and sold at Rs. 170?  (2) 

 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  i) j|m=d"= eGbf lj=d"= ;fgf] ePsfn] gf]S;fg x'G5 n]v]df 

ii) gf]S;fg = ? 30 n]v]]df  

 
k|Zg gDa/ !@ n] P]lss lgod ;DalGwt ;d:of ;dfwfg ug{ ;Sg] Ifdtfsf] dfkg ug{ 

vf]lhPsf] 5 . o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ o:t} k|s[ltsf PsfO dfgaf6 w]/} / w]/} 

dfgaf6 PsfO dfg kQf nufpg] vfnsf k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   

  

!@= rf/cf]6f sndsf] d"No ? 32 k5{ eg] b'O{cf]6f sndsf] d"No slt k5{ < If the cost of 

four pens is Rs. 32 then what is the cost of two such pens? 
 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  i) Pp6f sndsf] d"No ? 8 n]v]df 

ii) b'O{cf]6f sndsf] d"No = ? 16 n]v]df  

      jf cGo ljlwaf6 ;xL pQ/ lgsfn]df cª\s k|bfg ug{] 

k|Zg gDa/ !# n] ;hftLo kbsf] hf]8 / 36fp ug{ ;Sg] Ifdtfsf]] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ cGo cleJo~hssf] hf]8, 36fp;DaGwL ;/nLs/0fsf 

k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 . 

  

!#= ;/n ug'{xf];\ M SimplifyM 5x  2y + 7x  2y  3x  

 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  i) 9x  2y – 2y jf 5x + 7x – 3x – 4y  jf 12x  4y – 3x n]v]df 

ii) 9x  4y  n]v]df 

 

k|Zg gDa/ !$ n] Ps rno'St ;dLs/0f xn ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ 3ftfª\ssf] kl/ro lbg], l6«sf]6f]dL lgodsf lrx\gx¿ 

k|of]u ug]{ vfnsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

 
!$= xn ug'{xf];\ M Solve:  3x + 5 = 9.  
 

𝑥 =
4

3
  jf 1

1

3
 n]v]df ! cª\s lbg'xf];\ .  
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k|Zg gDa/ !% n] cIf, rt'yf{+z / lgb]{zfª\ssf] wf/0ff ljsf; u/L rt'yf{+zdf laGb'x¿nfO{ 

cª\sg (Plotting) ug{ ;Sg] Ifdtfsf]] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo k|Zgx¿ 

lgdf{0f ubf{ o:t} k|s[ltsf cGo k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   
!%= laGb' A sf] lgb]{zfª\s slt x'G5 < What is the coordinate of point A? 

 
 

𝐴(4,5) jf (4,5) n]v]df ! cª\s lbg'xf];\ .  

 
k|Zg gDa/ !^ n] :tDeu|fkm lgdf{0f ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf 

cGo k|Zgx¿ lgdf{0f ubf{ o:t} k|s[ltsf cGo k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .  

!^= tn tflnsfdf lstfasf] ;ª\Vof lbOPsf] 5 . Number of books is given in the table 

below.   
lstfasf] gfd (Book’s name) ;ª \Vof (number) 
g]kfnL -Nepali) 20 

ul0ft -Math) 30 

cª\u|]hL -English) 15 

lj1fg tyf k|ljlw -Science) 25 

dflysf] tYofª\snfO{ lbOPsf] juf{ª\lst sfuhdf :tDelrq lvRg'xf];\ M 

Make a bar graph using above data on the following graph paper. 
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k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  𝑖)  ;xL cIf jf juf{lª\st sfuhdf Ps sf]7f a/fa/ ;ª\Vof n]v]df ! cª\s 

       𝑖𝑖) lbOPsf] tYofª\snfO{ juf{lª\st sfuhdf e/]/ lrq agfPdf ! cª\s  

  

 

sIff * 

  

k|Zg gDa/ ! n] sDkf;sf] k|of]u u/L sf]0fx¿ gfKg lvRg ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 

. o;afx]ssf k|Zgx¿ lgdf{0f ubf{ sDkf;af6 cGo sf]0fx¿ /rgf ug{ nufpg] k|Zgx¿ lgdf{0f 

ug{ ;Sg'x'g] 5 .  

 

!= sDkf;sf] k|of]u u/L 45o sf] sf]0f /rgf ug'{xf];\ .  Construct an angle of 45o by using a 

compass.    

 
sDkf;n] 45O  sf] ;xL sf]0f lvr]df ! cª\s k|bfg ug'{xf];\ .  

 gf]6M rfFbn] lvr]df cª\s glbg] .    

k|Zg gDa/ @ n] lqe'hx¿sf] k|sf/sf] klxrfg ug{ ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zg lgdf{0f ubf{ e'hfsf] cfwf/df lqe'hx¿sf] juL{s/0f ug{ nufpg] vfnsf 

k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   

 

@= s'g} b'O{ sf]0f a/fa/ ePsf] lqe'h s:tf] k|sf/sf] lqe'h xf] < What kind of a triangle has 

two equal angles ?    

-s_ ;dl4afx' lqe'h -Isosceles triangle) 
-v_ ;dafx' lqe'h -Equilateral triangle) 
-u_ lj;dafx' lqe'h -Scalane triangle) 

-s_ ;dl4afx' lqe'h -Isosceles triangle) jf -s_ df l7s lrXg nufPdf jf ;dl4afx' lqe'h 

jf Isosceles triangle n]v]df ! cª\s k|bfg ug'{xf];\ .  

k|Zg gDa/ # n] hf]8f sf]0fx¿sf] klxrfg ug{ ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf 

cGo k|Zg lgdf{0f ubf{ hf]8f sf]0f;DaGwL HofldtLo tYox¿ k/LIf0f ug{ nufpg] vfnsf 

k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   
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#= hf]8f ldnfpg'xf];\ M Match the following  

 

                 

-s_ zLiff{eLd'v sf]0fx? -Vertically opposite angles) 

 

-v_ ;dk"/s sf]0fx? -Complementary angles) 

 

-u_ kl/k"/s sf]0fx? -Supplementary angles) 

 

-3_ PsfGt/ sf]0fx? -Alternate angles) 
 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf # cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

-s_ zLiff{eLd'v sf]0f;Fu t];|f] lrqsf] hf]8f ldnfPdf 

-v_ ;dk"/s sf]0f;Fu bf];|f] lrqsf] hf]8f ldnfPdf 

-u_ kl/k"/s sf]0f;Fu klxnf] lrqsf] hf]8f ldnfPdf  

 
k|Zg gDa/ $ n] cg'¿k cfs[ltx¿ lrGg / vf]hL ug{ ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zg lgdf{0f ubf{ o:t} k|s[ltsf cGo cfs[lt lbP/ k|Zg lgdf{0f ug{ ;Sg'x'g] 

5 .   

$= cg'¿k lqe'hx¿ klxrfg u/L n]Vg'xf];\ . Identify and write the congruent triangles.  

                       
   ……………………….. 

 
lrq (a) / (b) jf klxnf] / t];|f]  n]v]df ! cª\s k|bfg ug'{xf];\ .    

 

 

;d"x s 
;d"x v 
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k|Zg gDa/ % n]  if8\d'vfsf/ j:t'sf] cfotg kQf nufpg] l;ksf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zg lgdf{0f ubf{ 3gfsf/ j:t'sf]] cfotg kQf nufpg] vfnsf k|Zg lgdf{0f 

ug{ ;Sg'x'g] 5 .   

%= lbOPsf] if8\d'vfsf] cfotg kQf nufpg'xf];\ . Find the volume of the given cuboid.  

 
  
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  i) Volume = l × b × h jf V = l × b × h jf V = 6m × 5m × 4m n]v]df 

ii) Volume = 120 m3   jf 120 dfq n]v]df   

k|Zg gDa/ ^ n] n]vflrqdf lbOPsf] laGb'sf] lgb]{zfª\s kQf nufpg ;Sg] Ifdtfsf] dfkg ug{ 

vf]lhPsf] 5 . o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ n]vflrqdf lbOPsf] laGb'x¿nfO{ cª\sg 

ug{ nufpg] vfnsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

^= laGb' A sf] lgb]{zfª\s slt x'G5 < What is the coordinate of point A? (1) 

  
 

𝐴(−3, 4) jf (−3, 4) n]v]df ! cª\s lbg] .  

 
 
k|Zg gDa/ & n] c;dfg x/ ePsf leGgsf] leGgsf] hf]8 ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 

5 . o;afx]ssf cGo k|Zg lgdf{0f ubf{ c;dfg x/ leGgsf] 36fp, leGgsf] u'0fg / efu;Fu 

;DalGwt k|Zg lgdf{0f ug{ ;Sg'x'g] 5 .   
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&= ;/n ug'{xf];\ M Simplify:  
2

5
+

3

4
 

1

5
  

 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  i) 
1

5
+

3

4
 jf 

23

20
−

1

5
 jf 

8+15−4

20
 n]v]df 

ii) 
19

20
  n]v]df   

 
k|Zg gDa/ * n] bzdnjnfO{ leGgdf ¿kfGt/0f ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zg lgdf{0f ubf{ bzdnj / cfg'kflts ;ª\Vofx¿sf] klxrfg ug{ nufpg] 

vfnsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

*= 1.025 nfO{ leGgdf abNg'xf];\ . Convert 1.025 into a fraction. 

1025

1000
  jf 

41

40
 n]v]df ! cª\s lbg] .  

k|Zg gDa/ ( n]  k|ltztsf] cjwf/0ff ;dfj]z ePsf ;d:ofx¿ ;dfwfg ug{ ;Sg] Ifdtfsf] 

dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ o:t} k|s[ltsf cGo k|Zgx¿ 

lgdf{0f ug{ ;Sg'x'g] 5 .   

(= Pp6f Jofkf/Ln] ? $%) df lsg]sf] sldh ? %@) df a]Rof] . p;n] slt k|ltzt gfkmf 

u/]5 < A business person bought a shirt for Rs. 450 and sold it for Rs. 520. Find out the 

percentage of profit he/she made? 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M  

i) gfkmf = 520 − 450 = 70 n]v]df  

ii) gfkmf k|ltzt =
700

45
 jf 

140

9
 jf 15

5

9
 jf 15.56 n]v]df  

k|Zg gDa/ !) n] k|ToIf / ck|ToIf ljr/0fsf] cjwf/0ff ;dfj]z ePsf ;d:ofx¿ ;dfwfg 

ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ o:t} k|s[ltsf 

cGo k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

!)= s'g} sfd % hgfn] #% lbgdf ;S5g\ . pSt sfd !% hgfn]] slt lbgdf ;S5g\ < 5 

people can complete a work in 35 days. How many days will take 15 people to complete the same 

work?  

 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  𝑖)  Ps hgfn] sfd ;Sg nufpg] lbg = 35 × 5 lgsfn]df 
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𝑖𝑖) 15 hgfn] sfd ;Sg nufpg] lbg = 
35

5
 jf 11

2

5
 lgsfn]df  

      jf  

dfgf}, cfjZos lbg = 𝑥, 

𝑖)
𝑥

35
=

5

15
 n]v]df  

𝑖𝑖) 𝑥 =
35

5
 jf 11

2

5
 lgsfn]df 

gf]6M  cGo ljlwaf6 ;xL pQ/ lgsfn]df cª\s k|bfg ug{] 

k|Zg gDa/ !! n] (a  b)2 sf] ;"q :yflkt u/L k|of]u ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 

5 . o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ o:t} k|s[ltsf cGo k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 

.   

!!= (x + 2)2 nfO{ lj:tfl/t ¿kdf n]Vg'xf];\ . Write in the expanded form for (x + 2)2.   

𝑥2 + 4𝑥 + 4 jf 𝑥2 + 2. 𝑥. 2 + 22
 n]v]df ! cª\s lbg] .  

 
k|Zg gDa/ !@ n] ljhLo cleJo~hsx¿sf] u'0fg ug{ ;Sg] Ifdtfsf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ o:t} k|s[ltsf ljhLo cleJo~hsx¿sf] efu ug{ 

nufpg] vfnsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

 

!@= lbOPsf] cleJo~hssf] ;/nLs/0f ug'{xf];\ M Simplify the given expression: 

 
2𝑥

𝑥+1
×

𝑥−1

3𝑥
 

k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  𝑖)  
2(𝑥−1)

3(𝑥+1)
 lgsfn]df 

𝑖𝑖)
2𝑥−2

3𝑥+3
 lgsfn]df  

      gf]6M  cGo ljlwaf6 ;xL pQ/ lgsfn]df cª\s k|bfg ug{] 

 
k|Zg gDa/ !# n] b'O{ rno'St /]vLo ;dLs/0fsf] n]vflrq lvRg ;Sg] l;ksf] dfkg ug{ 

vf]lhPsf] 5 . o;afx]ssf cGo k|Zg lgdf{0f ubf{ o:t} k|s[ltsf cGo ;dLs/0fx¿af6 k|Zg 

lgdf{0f ug{ ;Sg'x'g] 5 .   

!#= tnsf] ;dLs/0fnfO{ n]vflrqdf b]vfpg'xf];\ . Show the following equation on graph 

paper.    x + y = 5 
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k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

 i)  

 jf To:t} ldNg] b'O{ laGb' lgsfn]df 

 

ii)  ;xL cIf agfP/ laGb'nfO{ e/L /]vf agfPdf   

 
 
k|Zg gDa/ !$ n] 3ftfª\ssf] ;/n ug{ ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . o;afx]ssf cGo 

k|Zg lgdf{0f ubf{ o:t} k|s[ltsf efu / z"Go3ft lgod k|of]u x'g] vfnsf k|Zg lgdf{0f ug{ 

;Sg'x'g] 5 .   

 

!$= ;/n ug'{xf];\ M Simplify:   

 𝑥𝑎−𝑏 × 𝑥𝑏−𝑐 × 𝑥𝑐−𝑎 

 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  𝑖)  𝑥𝑎−𝑏+𝑏−𝑐+𝑐−𝑎
 n]v]df 

𝑖𝑖) = 1 lgsfn]df  

 
k|Zg gDa/ !% n] tYofª\saf6 /]vflrq lgdf{0f ug{ ;Sg] l;ksf] dfkg ug{ vf]lhPsf] 5 . 

o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ o:t} k|s[ltsf cGo k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

 

!%= tflnsfdf Ps hgf dflg;n] cfkm\gf] tf}n 36fpg u/]sf] lg/Gt/ k|of;af6 k|fKt glthf 

lbOPsf] 5 . pSt tYofª\scg';f/ /]vflrq lgdf{0f ug'{xf];\ . The given table represents the 

result of weight loss result for a man after continuous exercise. Make a line graph based on 

the data. 

dlxgf -Month) tf}n -s]hLdf_ Weight (Kg) 
h]7 -Jestha) 100 

c;f/ -Asar) 95 

;fpg -Shawan) 90 

X 0 5 

y 5 0 
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ebf } -Bhadra) 85 

c;f]h (Asoj) 80 

 
k|To]s ;xL pQ/sf nflu ! cª\ssf b/n] hDdf @ cª\s k|bfg ug'{xf];\ .  

;xL pQ/ M 

  𝑖)  u|fkmdf ;xL cIf agfP/ cª\sg u/]df 

𝑖𝑖) lbOPsf] tYofª\snfO{ u|fkmdf e/]/ lrq agfPdf   

 
;f] /]vflrq cWoog u/L sflt{s dlxgfdf ;f] JolStsf] tf}n nueu slt x'g ;Snf < n]Vg'xf];\ 

. Study the line graph. What will be the approximately weight of the person on Kartik? Write. 
 
/]vflrqaf6 nueu tf}n 75 n]v]df ! cª\s k|bfg ug'{xf];\ .  

 
k|Zg gDa/ !^ n] ;j{Jofks ;d"x / o;sf pk;d"xx¿ lgdf{0f ug{ ;Sg] l;ksf] dfkg ug{ 

vf]lhPsf] 5 . o;afx]ssf cGo k|Zgx¿ lgdf{0f ubf{ vfnL ;d"x, ;dt'No, a/fa/, ;Lldt / 

c;Lldt ;d"xsf] klxrfg ug{ nufpg] vfnsf k|Zgx¿ lgdf{0f ug{ ;Sg'x'g] 5 .   

!^= ;j{Jofks ;d"x U sf pk;d"x A = {2, 4, 6, 8, 10} / pk;d"x B = {1, 2, 7 } 5g\ . ;d"x 
A / ;d"x B sf nflu ;a}eGbf ;fgf] ;j{Jofks ;d"x agfpg'xf];\ . A = {2, 4, 6, 8, 10} and 
B = {1, 2, 7 } are subsets of a universal set U. Make a smallest universal set for both sets A 

and B. 

U = {1,2,4,6,7,8,10} jf {1,2,4,6,7,8,10}  n]v]df ! cª\s k|bfg ug'{xf];\ .  

 

%= ljBfyL{sf nflu gd'gf k/LIf0f ;fwg  

o; v08df gd'gfsf ¿kdf ljBfyL{ k/LIf0fsf nflu k|of]u ug{ ;lsg] sIff # b]lv * ;Ddsf 

Ps ;]6 k|Zg /flvPsf] 5 .  

sIff # 

!= lbOPsf HofldtLo cfs[lt hgfpg sf]i7sleq lbOPsf gfddWo]af6 pko'St gfd 5gf]6 

u/L sf]7fdf n]Vg'xf];\ .  

    -j[Q, rt'e'{h, l;wf /]vf, jj|m /]vf, laGb', lqe'h_ 

Write the appropriate name of the given geometrical shape in the box by selecting the 
options provided in the brackets. 

    (circle, quadrilateral, straight line, curved line, point, triangle)   [4×1 = 4] 
 

-s_ 

 

-v_ 

 

-u_ 

 

-3_  

  
…………………. 

  
……………….. 

  
……………… 

  
……………………… 

 

@= -s_ lbOPsf ;ª\VofnfO{ cIf/df n]Vg'xf];\ . Write the given numbers in words. 
 -c_ @#        =======================     [1] 
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       -cf_ *&  =======================     [1] 

-v_ lbOPsf ;ª\VofnfO{ cª\sdf n]Vg'xf];\ . Write the given numbers in numerals. 

 -c_ rf}lt; =======================     [1] 

       -cf_ a};6\7L =======================     [1] 

       -O_ ;trfln;  =======================     [1] 

#= 7'nf] ;ª\Vofdf uf]nf] -_ lrx\g nufpg'xf];\ . Circle () the larger number.  
 -s_ %^      ^%    [1] 

       -v_ ()     **    [1] 

$= hf]/ ;ª\Vofx¿df uf]nf]  lrx\g nufpg'xf];\ . Circle () even numbers. 
  
 $     & ( !^ @& !*! @!*      [1] 

%= lx;fa ug'{xf];\ . Calculate:                                  [4 = 4] 

-s_    @ * 

 + $ @ 

-v_     ( 

 #   

-u_     ^ 

 # 

-3_     

^= lbOPsf dWo] s'g ;d:of ;dfwfg ug{ 36fp lj|mof ug'{k5{ < ;xL ljsNkdf l7s -_ 

lrx\g nufpg'xf];\ . Which of the following problems should be solved using subtraction? 

Tick () on correct option. [1] 

-s_ xl/nfO{ a'afn] !) ?lkofF  / cfdfn] % ?lkofF lbg'eof] . ca pgL;Fu hDdf slt ?lkofF 

eof] < Hari is given 10 rupees by father and  5 rupees by mother. How much rupees 

does he have now?  

-v_  Pp6f j|m]6df #) cf]6f cG8f 5g\ . % cf]6f j|m]6df sltcf]6f cG8f x'G5g\ < 

       A crate contains 30 eggs. How many eggs are in the 5 crate? 

-u_ /fd;Fu #% ?lkofF lyof] . !) ?lkofF vr{ u¥of] . cj p;Fu slt afFsL 5 <  

Ram had Rs. 35. He spent Rs 10. Now how many rupees does he have left? 

-3_ %% cf]6f rsn]6 # hgfnfO{ a/fa/ afF8\bf Ps hgfn] slt cf]6f rsn]6 kfpF5g\ < 

     If 55 chocolates are distributed equally among 3 persons, how many chocolates each 

person will get? 

  

$ @) 
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&= tn lbOPsf] lrqu|fkm cWoog ug'{xf];\ / lbOPsf k|Zgsf] pQ/ lbg'xf];\ . 

   Study the following pictograph and answer the questions. 
 

kmnkm"nx¿sf] 

gfd (Name of 

fruits)  

kmnkm"nsf] ;ª\Vof (Number of Fruits) 

:ofp (Apple) 
        

;'Gtnf 

(Orange) 
    

    

e'OFs6x/ 

(pineapple)    

     

cDaf (Guava) 
     

   

 
-s_ sltcf]6f :ofp /x]5g\ <  How many apples are there ? =============================== [1]  

-v_ slt k|sf/sf kmnkm"n 5g\ < How many types of fruits are there? ================== [1] 

-u_ s'g kmnkm"n ;a}eGbf sd /x]5 < Which fruit are minimum in number ?=========== [1]  
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sIff $ 

!= lbOPsf] sf]0fsf] gfd n]Vg'xf];\ . Write the name of the given angle. [1]  

  
 
     ………………………… 

@=  /]vfv08 AB slt ;]=dL= nfdf] 5 < How long is the line segment AB ?   [1]  

  
   

 

 
  

 
  ============= ;]lG6ld6/ 

#= -s_ lbOPsf] ;ª\VofnfO{ cIf/df n]Vg'xf];\ . Write the given numbers in word. 

 -c_ @#  ====================================================   [1]   

-cf_ *(&  ======================================================  [1]   
-v_ lbOPsf] ;ª\VofnfO{ cª\sdf n]Vg'xf];\ . Write the given numbers in numerals.  

 -c_ k}lt;  =======================                 [1]   

-cf_ b'O{ ;o a};6\7L =======================   [1]   

-O_ Fifty seven =======================         [1]   

$= ;ª\Vofsf] t'ngf u/L < jf > lrx\g /fVg'xf];\ . Compare the given numbers and put the 

symbol   < or >.                                                     [2x 1 = 2]                                                                                                                                          

 -s_ 567 ====== 754 

 -v_ 456 ======== 125 

%= -s_ lbOPsf] ;ª\VofnfO{ 36\bf] j|mddf ldnfP/ n]Vg'xf];\ . (Write the given numbers in   

descending order)M [1] 

          #), %^, $@ 

          ==============, ==================, =================  
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-v_ lbOPsf] ;ª\VofnfO{ a9\bf] j|mddf ldnfP/ n]Vg'xf];\ (Write the given numbers in  

ascending order)M   [1] 

     @$#, &^$, !%%  

     ============, =================, ==============  

^= lbOPsf dWo] s'g lx;fadf u'0fg ug'{k5{ < ;xL ljsNkdf l7s -_ lrx\g nufpg'xf];\ . 

Which of the following problems should be solved using multiplication?  Tick () the 

correct option.  [1] 

-s_ xl/nfO{{ a'afn] !) ?lkofF / cfdfn] % ?lkofF lbg'eof] . ca pgL;Fu hDdf slt ?lkofF 

eof] < 

    Hari is given 10 rupees by father and  5 rupees by mother. How much rupees does he 

have now?  

-v_ Pp6f j|m]6df #) cf]6f cG8f 5g\ . % cf]6f j|m]6df sltcf]6f cG8f x'G5g\ <A crate 

contains 30 eggs. How many eggs are in the 5 crate? 

-u_ /fd;Fu #% ?lkofF lyof] . !) ?lkofF vr{ u¥of] . cj p;Fu slt afFsL 5 <  

Ram had Rs. 35. He spent Rs 10. Now how many rupees does he have left? 

-3_ %% cf]6f rsn]6 # hgfnfO{ a/fa/ afF8\bf Ps hgfn] sltcf]6f rsn]6 kfpF5g\ < 

     If 55 chocolates are distributed equally among 3 persons, how many chocolates will each 

person get? 

&= lx;fa ug'{xf];\ M Calculate       [5x1=5]  

                                  
-s_    * 

 + $ 

-v_  $%^ 

+ %^& 

-u_     @(( 

 @&#   

-3_     !@# 

   # 

-ª_     

 
*= lrqdf 5fofF kfl/Psf efunfO{ leGgdf n]Vg'xf];\ . Write the shaded part of the figures in 

fraction.                                      [2x1=2] 

  
  

 -s_         -v_     

     

  .......................   ....................... 

(= vfnL 7fFp eg'{xf];\ M Fill in the blanks :    [3x 1 = 3]    

-s_ ! lsnf]ld6/ (1 kilometer) = ================== ld6/ (meter) 

@$ $ 
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-v_ ! lsnf]u|fd (1 kilogram) = …………………. u|fd (gram) 

-u_ ! ?lkofF (1 Rupees)  = ……………………….. k};f (paisa) 

 !)= lbOPsf] tflnsfaf6 lrqu|fkm agfpg'xf];\ . Make a pictograph from the given table. [2] 

lrqsf] gfd ;ª\Vof 

lqe'h !) 

rt'e'{h & 

j[Q !@ 

tf/f ^ 

 lrqu|fkm agfpg'xf];\ M 

lrqsf] gfd lrq ;ª\Vof 

lqe'h  

rt'e'{h  

j[Q  

tf/f  
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sIff % 

!= lqe'hsf efux¿nfO{ jf0f lrx\gn] ;ª\s]t ul/Psf] 5 . ltgsf gfd n]Vg'xf];\ .  

   Write the name of the parts of a triangle indicated with arrow signs.  [2x1=2]  

 

 

 

@= lrqdf lbOPsf] ?n/ k|of]u u/L 6 ;]lG6ld6/ gfksf] /]vfv08 lvRg'xf];\ .  

   Draw a 6 cm line segment by using the ruler given in the picture.  [1] 

 

 

 

 

 
#= lbOPsf sf]0fx¿sf] gfk n]Vg'xf];\ .  Write the measurement of the given angles. 

   [2x 1 = 2] 

 

          ===================l8u|L       ================= l8u|L 

$= -s_ lbOPsf ;ª\VofnfO{ cIf/df n]Vg'xf];\ .  Write the given numbers in words. [2 x 1 = 2] 

 -c_ !,*%&  ================================================================================             

-cf_ @$,^%) ================================================================================ 

-v_ lbOPsf ;ª\VofnfO{ cª\sdf n]Vg'xf];\ . Write the given numbers in numerals. [2 x 1 = 2]   

 -c_ 5 xhf/ b'O{ ;o a};6\7L ============================ 
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       -cf_  Three hundred forty seven   ============================ 

%= vfnL 7fpF eg'{xf];\ . Fill in the blanks.    [2x1 = 2]                                                                                               

-s_ @% sf] dflysf] bz ===================/ tnsf] bz =====================x'G5 . 

       The ten above 25 is …………… and the ten below it is …………………… 

-v_ &$% sf] dflysf] ;o ===================/ tnsf] ;o =====================x'G5 . 

       The hundred above 745 is ……... and the hundred below it is …………………… 

^= -s_ ;ª\Vof 55370 nfO{ :yfgdfg tflnsfdf k|:t't ug'{xf];\ . Present the number 55370 in 

place value table. [1] 

bz xhf/ ( Ten 

Thousands) 

xhf/ (Thousands) ;o (Hundreds) bz (Tens)  Ps (Ones) 

     

-v_ ;ª\VofnfO{ cNklj/fd lbO{ n]Vg'xf];\ . Write the numbers with commas.  [1] 

cNklj/fd -,_ nufP/ n]Vbf When written with a comma (,):  ==================== 

&= lx;fa ug'{xf];\ Calculate M      [5  1 = 5] 

-s_    8 0  7 

+4 6 2 

 

-v_   3 5 1 5 

+ 5 6 8 7 

-u_      8 2 4 9 

 6 2 7 3   

-3_     1  2 5 

   6 

-ª_    8       104 

 

 

*= ;/n ug'{xf];\ . Simplify M      [1] 

     15 + 4  ̶  5 = ……………….. 

 (= 
1

5
 s'g leGgsf] pbfx/0f xf] < What type of fraction 

1

5
 is? [1] 

 -s_ ldl>t ;ª\Vof (mixed numbers) 

 -v_ pko'St leGg ;ª\Vof (proper fraction) 
 -u_ cg'ko'St leGg ;ª\Vof (improper fraction) 
 -3_ ;dt"No leGg ;ª\Vof (equivalent fraction) 
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!)= -s_ 2 lsnf]u|fd 300 u|fdnfO{ u|fddf abNg'xf];\ . Convert 2 kg and 300g to gram.   [1] 
 
 
 
 
!)=-v_ /fd cfOtaf/ @ lsnf]ld6/ %)) ld6/ lxF8\of] / ;f]daf/ % lsnf]ld6/ &)) ld6/ 

lxF8\of] eg] b'j} lbgdf u/L hDdf slt b'/L lxF8\of] < kQf nufpg'xf];\ . If Ram walked 2 km and 

500 m on Sunday and 5 km and 700 m on Monday, how much distance did he walk in total? 
Find out. [1] 

 

!!= -s_ sf]7f ;ª\s]tdf pko'St ;ª\Vof eg'{xf];\ . Write the correct number in the box. [1] 

 5 +          = 9  

-v_ x + y + 20 df rn / crn s'g s'g x'g\ < n]Vg'xf];\ I Identify and write the variable and 

constant in x + y + 20  [2  1 = 2] 

Rfn (Variable)  ============ 

crn (constant) =========== 

 !@= :tDelrq cWoog ug'{xf];\ / lbOPsf k|Zgsf] pQ/ lbg'xf];\ . Study the bar graph and 

give the answer of the following questions.  [3=3] 

 

-s_ cDaf sltcf]6f 5g\ < How many guavas are there? ================ 

-v_ :ofpeGbf ;'Gtnf sltn] a9L 5g\ < How many more oranges than apples ? ======== 

-u_ hDdf kmnkm"nx¿sf] ;ª\Vof slt x'G5g\ < What is the total number of fruits 

?===================   

०

५

१०

१५

२०

२५

३०

स्याउ सुन्तला अनार अम्बा

फ
ल
फू
ल
क
ो
स
ङ्ख
य
ा

फलफूलको नाम
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sIff ^ 

!= tn lbOPsf] sf]0f rfFbn] gfkL ;xL pQ/df l7s lrx\g nufpg'xf];\ . Tick the correct 

measurement of the angle by measuring with protractor.   [1] 

 
-s_ 30o 

-v_ 45o 

-u_ 60o 

-3_ 75o 

@= hf]8f ldnfpg'xf];\ . Match the following.   [3]   
 

 
-s_ clwssf]0f (obtuse angle) 

 

-v_ Go"gsf]0f (acute angle) 

 

-u_ ;dsf]0f (right angle) 

 
#= lbOPsf] lrqdf sltcf]6f s'gf, lsgf/f / ;tx 5g\ < How many vertices, edges and 

faces are there in the given picture?   [3 x 1 = 3] 

-s_ ;txx¿ (faces) =============== cf]6f  

-v_ lsgf/fx¿ (edges)============== cf]6f  

-u_ s'gfx¿ (Vertices) =============== cf]6f  

  

;d"x s 
;d"x v 
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$= tnsf] juf{ª\lst sfuhdf Ps hf]8f ;dfgfGt/ /]vfx¿ lvRg'xf];\ .  

Draw a pair of parallel lines in the following graph paper. [1] 

 

%= #( s:tf] ;ª\Vof xf] < What type of number 39 is?   [1] 

 -s_ ?9 ;ª\Vof (prime number)  

 -v_ ;+o'St ;ª\Vof (composite number) 

 -u_ hf]/ ;ª\Vof (even number) 

  

^=  45 + 2(6  2) = ?                             [1] 

 -s_ 49 

 -v_ 50 

 -u_ 53 

 -3_ 55 

&= lbOPsf] cfotsf] kl/ldlt / If]qkmn kQf nufpg'xf];\ . Find the perimeter and area of the 

given rectangle. 
 

 
kl/ldlt (perimeter) = …………………………………………………………… [1] 

If]qkmn (area) = ………………………………………………………………… [1]  
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*= *$,%^& nfO{ cIf/df n]Vbf lbOPsf dWo] ;xL pQ/df l7s () lrx\g nufpg'xf];\ . Tick 

() the correct answer when 84,567 is written in words. [1] 

 

-s_ cf7 nfv rf/ xhf/ kfFr ;o ;t;6\7L (Eight lakh four thousand five hundred and sixty 

seven) 

-v_ rf}/f;L nfv kfFr ;o ;t;6\7L (Eight four lakh five hundred and sixty seven) 

-u_ rf}/f;L xhf/ kfFr ;o ;t;6\7L (Eighty four thousand five hundred and sixty seven) 

-3_ cf7 xhf/ k}Ftfln; ;o ;t;6\7L (Eight thousand forty five hundred and sixty seven) 

 

(= hf]8 ug'{xf];\ M Add:  
3

5
+

1

5
 [1] 

 
!)= 0.15 nfO{ leGgdf ¿kfGt/0f ubf{ slt x'G5 < What is the conversion of 0.15 into 

fraction?  [1] 

 -s_ 
1

5
  -v_ 

1

15
  -u_ 

15

10
  -3_ 

15

100
 

!!= x + 3 = 9 df rn / crn /fzL s'g s'g x'g\ < n]Vg'xf];\ .                                                                                    

Identify and write the variable and constant in x + 3 = 9 ?     

      rn /fzL (Variable)  M ================   [1] 

      crn /fzL (Constant) M ===============                  [1] 
 

!@= ;/n ug'{xf];\ . Simplify.      [1] 

3x + 2y - x + 4y  

 

 

 

 

 

!#= lbOPsf] ;dLs/0f xn ug{'xf]; \ M Solve the given equation.  [1] 
 2x + 1 = 7 
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sIff & 

 

!= vfnL 7fpFdf eg'{xf];\ . Fill in the blanks. [3 ×1=3] 

-s_  90o sf] sf]0fnfO{ ================ elgG5 . The angle of 90o is called ……………….. 

-v_ 90o eGbf ;fgf] / 0o eGbf 7'nf] sf]0fnfO{ ===================== elgG5 . The angle less than 90o 

and greater than 0o is called ……………… 
-u_ 90o eGbf 7'nf] 180o eGbf ;fgf] sf]0fnfO{ ==================elgG5 . The angle greater than 90o 

and smaller than 180o is called ……………………. 
 

@= sDkf;sf] k|of]u u/L 60o sf] sf]0f /rgf ug'{xf];\ . Construct an angle of 60o by using 

compass.  [1] 

 
#= lbOPsf hf]8L /]vfx¿ s:tf /]vfx¿ x'g\ < What type of lines are given in the pair of 

lines?  [1] 

 

 
 
 

                …………………………………… 
 
$= tLgcf]6} e'hf a/fa/ ePsf] lqe'h s:tf] k|sf/sf] lqe'h xf] < What kind of triangle has 

three equal sides? [1] 

-s_ ;dsf]0fL lqe'h (Right angled triangle) 
-v_ ;dl4afx' lqe'h (Isosceles triangle) 
-u_ ;dafx' lqe'h (Equilateral triangle) 
-3_ ljifdafx' lqe'h (Scalene triangle)  
 
%= lbOPsf] lrqsf cfwf/df ;f]lwPsf k|Zgsf pQ/ lbg'xf];\ M Answer the following question 

based on the given figure.  [2] 
 

-s_ OA  / CD nfO{ s] elgG5 < What is called for OA and 

CD ?  

  

A 

B 

C 

D 
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^= Pp6f if8\d'vfsf s'gf, lsgf/f / ;txsf] ;DaGw s] x'G5 < What is the relation between 

the vertices, edges and faces of a cuboid? [1] 
-s_ V –E + F = 2 

-v_  V  E F  = 2 

-u_  V + E  F = 2 
-3_  V +E + F = 2 

&= 80  [10  2(4  3)] = ?  [1] 

-s_ 6 

-v_ 10 

-u_ 16 
-3_ 40 

*= 24 sf] ?9 u'0fgv08 s'g xf] < Which of the following is the prime factors 24? [1] 
-s_ 3  8 

-v_ 2  12 

-u_ 6  3  2 

-3_ 2  2  2  3   

(= 12 / 10 sf] n3'td ;dfkjt{s -n=;=_ / dxQd ;dfkjt{s -d=;=_ slt x'G5 < What is 

the LCM. and HCF of 12 and 10? [1] 

-s_ n=;= 60, d=;= 2 (LCM. 60, HCF 2) 

-v_ n=;= 120, d=;= 3  (LCM 120, HCF 3) 

-u_ n=;= 120, d=;= 5 (LC.M. 120, H.C.F. 5) 

-3_ n=; 60, d=; 10 (L.C.M. 60, H.C.F. 10) 

!)= hf]8 ug'{xf];\ M Add:  
3

4
+

5

6
 [2] 

 
!!= Pp6f lstfanfO{ ? 200 df lsg]/ ? 170 a]Rbf slt gfkmf jf gf]S;fg x'G5 < What is the 

profit or loss when a book is bought for Rs. 200 and sold at Rs. 170?  [2] 

 
 
!@= rf/cf]6f sndsf] d"No ? 32 k5{ eg] b'O{cf]6f sndsf] d"No slt k5{ < If the cost of 

four pens is Rs. 32 then what is the cost of two such pens? [2] 
 
 

!#= ;/n ug'{xf];\ SimplifyM 5x  2y + 7x  2y  3x      [2] 

 

 

 

 

!$= xn ug'{xf];\ . Solve:  3x + 5 = 9.  [1] 
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!%= laGb' A sf] lgb]{zfª\s slt x'G5 < What is the coordinate of point A? [1] 

 

!^= tn tflnsfdf lstfasf] ;ª\Vof lbOPsf] 5 . Number of books is given in the table 

below.  [2] 
  

lstfasf] gfd (Book’s name) ;ª\Vof 

(number) 
g]kfnL -Nepali) 20 

ul0ft -Math) 30 

cª\u|]hL -English) 15 

lj1fg tyf k|ljlw -Science and technology) 25 

dflysf] tYofª\snfO{ lbOPsf] juf{ª\lst sfuhdf :tDelrq lvRg'xf];\ M 

Make a bar graph using above data on the following graph paper. 
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sIff * 

  

!= sDkf;sf] k|of]u u/L 45o sf] sf]0f /rgf ug'{xf];\ . Construct an angle of 45o by using a 

compass.   [1] 

 

 

 
 
@= s'g} b'O{ sf]0f a/fa/ ePsf] lqe'h s:tf] k|sf/sf] lqe'h xf] < What kind of a triangle has 

two equal angles ?   [1] 

-s_ ;dl4afx' lqe'h -Isosceles triangle) 
-v_ ;dafx' lqe'h -Equilateral triangle) 
-u_ lj;dafx' lqe'h -Scalane triangle) 

#= hf]8f ldnfpg'xf];\ . Match the following [3] 

 
 

 
                 

-s_ zLiff{eLd'v sf]0f -Vertically opposite angles) 

 

-v_ ;dk"/s sf]0f -Complementary angles) 

 

-u_ kl/k"/s sf]0f -Supplementary angles) 

 

-3_ PsfGt/ sf]0f -Alternate angles)  

 
  

;d"x s 
;d"x v 
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$= cg'¿k lqe'hx¿ klxrfg u/L n]Vg'xf];\ . Identify the congruent triangles and write. [1] 

                       
   ……………………….. 

 

%= lbOPsf] if8\d'vfsf] cfotg kQf nufpg'xf];\ . Find the volume of the given cuboid. [2]  

 

 
  
^= laGb' A sf] lgb]{zfª\s slt x'G5 < What is the coordinate of point A? (1) 

  
 
&= ;/n ug'{xf];\ M Simplify:  [2] 
2

5
+

3

4
 

1

5
  

 
 
 

*= 1.025 nfO{ leGgdf abNg'xf];\ . Convert 1.025 into a fraction. [1] 
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(= Pp6f Jofkf/Ln] ? $%) df lsg]sf] sldh ? %@) df a]Rof] . p;n] slt k|ltzt gfkmf 

u/]5 < A business person bought a shirt for Rs. 450 and sold it for Rs. 520. Find out the 

percentage of profit did he/she made? [2] 

 

 
  
!)= s'g} sfd % hgfn] #% lbgdf ;S5g\ . pSt sfd !% hgfn]] slt lbgdf ;S5g\ < 5 

people can complete a work in 35 days. How many days will take 15 people to complete the same 

work?  [2] 

  
 
 
!!= (x + 2)2 nfO{ lj:tfl/t ¿kdf n]Vg'xf];\ . Write in the expanded form for (x + 2)2.  [1] 
 
 
!@= lbOPsf] cleJo~hssf] ;/nLs/0f ug'{xf];\ M Simplify the given expression: [2] 

 
2𝑥

𝑥+1
×

𝑥−1

3𝑥
 

 
 

!#= tnsf] ;dLs/0fnfO{ n]vflrqdf b]vfpg'xf];\ . Show the following equation on graph 

paper. [2]    

x + y = 5 
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!$= ;/n ug'{xf];\ M Simplify: [2]    

 𝑥𝑎−𝑏 × 𝑥𝑏−𝑐 × 𝑥𝑐−𝑎 
 
 
!%= tflnsfdf Ps hgf dflg;n] cfkm\gf] tf}n 36fpg u/]sf] lg/Gt/ k|of;af6 k|fKt glthf 

lbOPsf] 5 . pSt tYofª\scg';f/ /]vflrq lgdf{0f ug'{xf];\ . The given table represents the 

result of weight loss result for a man after continuous exercise. Make a line graph based on 

the data. [2] 

dlxgf -Month) tf}n -s]hLdf_ Weight (Kg) 
h]7 -Jestha) 100 

c;f/ -Asar) 95 

;fpg -Shawan) 90 

ebf} -Bhadra) 85 

c;f]h (Asoj) 80 

 
;f] /]vflrq cWoog u/L sflt{s dlxgfdf ;f] JolStsf] tf}n nueu slt x'g ;Snf < n]Vg'xf];\ 

. Study the line graph. What will be the approximately weight of the person on Kartik? Write. 

[1] 

 
!^= ;j{Jofks ;d"x U sf pk;d"x A = {2, 4, 6, 8, 10} / pk;d"x B = {1, 2, 7 } 5g\ . ;d"x 

A / ;d"x B sf nflu ;a}eGbf ;fgf] ;j{Jofks ;d"x agfpg'xf];\ . A = {2, 4, 6, 8, 10} and 
B = {1, 2, 7 } are subsets of a universal set U. Make a smallest universal set for both sets A 

and B.                                                                                                        [1] 
 

 


